


CENTRIFUGAL PUMPS

3 SERIES

CONTENTS

60Hz

- SPECIFICATION
SPECIFICATION
SELECTION CHART

TYPE KEY AND CURVE SPECIFICATIONS

PERFORMANCE CURVE 32-125
PERFORMANCE CURVE 32-160
PERFORMANCE CURVE 32-200
PERFORMANCE CURVE 40-125
PERFORMANCE CURVE 40-160
PERFORMANCE CURVE 40-200
PERFORMANCE CURVE 50-125
PERFORMANCE CURVE 50-160
PERFORMANCE CURVE 65-125
PERFORMANCE CURVE 65-160
PERFORMANCE CURVE 65-200
PERFORMANCE CURVE 65-250
PERFORMANCE CURVE 80-160
PERFORMANCE CURVE 80-200
PERFORMANCE CURVE 80-250

CONSTRUCTION

SECTIONAL VIEW DRAWING 3(.)M 32, 40, 50, 65
SECTIONAL VIEW TABLE 3(.)M 32, 40, 50

SECTIONAL VIEW TABLE 3(.)M 65

SECTIONAL VIEW DRAWING 3LM 80-160

SECTIONAL VIEW TABLE 3LM 80-160

SECTIONAL VIEW DRAWING 3(.)S 32, 40, 50
SECTIONAL VIEW DRAWING 3(.)S 65-125/160/200
SECTIONAL VIEW TABLE 3(.)S 32, 40, 50, 65-125/160/200
SECTIONAL VIEW DRAWING 3LS 80-160

SECTIONAL VIEW TABLE 3LS 80-160

SECTIONAL VIEW DRAWING 3LS 65-250, 80-200/250
SECTIONAL VIEW TABLE 3LS 65-250, 80-200/250
SECTIONAL VIEW DRAWING 3(.)P 32, 40, 50, 65-125/160/200
SECTIONAL VIEW TABLE 3(.)P 32, 40, 50, 65-125/160/200
SECTIONAL VIEW DRAWING 3LP 80-160

SECTIONAL VIEW DRAWING 3LP 65-250, 80-200/250
SECTIONAL VIEW TABLE 3LP 80-160

SECTIONAL VIEW TABLE 3LP 65-250, 80-200/250

Rev. G

Page

200
201-202
203-204
205

206

207

208

209

210

211

212
213
214
215
216
217
218
219
220

300
300
301
302
303
304
305
306
307
308
309
310
311
312
313
314
315-316
317
318

100

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

CONTENTS 60Hz
Rev. G
BEARINGS 3(.)M 319
BEARINGS 3(.)S-3(.)P 320
MECHANICAL SEAL (standard, H and E version) 321
MECHANICAL SEAL (L version & 22) 322
MECHANICAL SEAL (L version @ 30) 323
MECHANICAL SEAL (HS version & 22) 324
MECHANICAL SEAL (HS version & 30) 325
MECHANICAL SEAL (HW and HSW version) 326
COUPLING 3(.)S 327
FLEXIBLE COUPLING 3(.)P 328
FITTINGS 329-330
- DIMENSIONS AND WEIGHT 400
PUMP 3(.)M 32, 40-125/160/200, 50-125/160, 65-125/160 400
PUMP 3(.)M 40-200, 50-160, 65-160/200 401
PUMP 3LM 80-160 402
PUMP 3(.)S 32-125/2.26 403
PUMP 3(.)S 32, 65-125/160/200 404
PUMP 3(.)S 40, 50, 65-160 405
PUMP 3LS 80-160/18.56 406
PUMP 3LS 65-250, 80-160/200 407
PUMP 3LS 80-200/250 408
PUMP 3LS 80-250/556 409
PUMP DRAWING 3(.)P 32, 40, 50, 65-125/160/200 410
PUMP TABLE 3(.)P 32, 40, 50, 65-125/160/200 411
PUMP 3LP 65-250, 80-160/200 412
PUMP 3LP 80-200/250 413
PUMP 3LP 80-250/556 414
PACKING 3(.)M 415
PACKING 3(.)S 416
PACKING 3(.)P 417
- TECHNICAL DATA 500
MOTOR DATA 3(.)M 500
MOTOR DATA 3(.)S-3(.)P 501
NOISE DATA 3(.)M 502
NOISE DATA 3(.)S-3(.)P 503
101

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

SPECIFICATION 60Hz
Rev. G
Version 3M 3S 3P 3LM 3LS 3LP
32-125 [ n n [ [ [
32-160 [ n n [ [ [
32-200 [ n n [ [ [
40-125 [ [ [ [ [ | [ |
40-160 [ [ [ [ [ | [ |
40-200 [ [ [ [ [ | [ |
50-125 [ n n [ [ [
Pump sizes 50-160 [ n n [ (] (]
65-125 [ [ u [ [ [
65-160 [ [ u [ [ [
65-200 [ u u [ | |
65-250 - - - - L L
80-160 - - - ° ° L
80-200 - - - - ° L
80-250 - - - - o L
B Available also with H, HS, HW, HSW, E version.
@ Available also with H, HW, HSW, E version.
— Not available.
200

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

SPECIFICATION

60Hz

Rev. G
PUMP
Version 3M 3s 3P | 3LM 3LS 3LP
- Clean water and moderately aggressive fluids
Type ofliquid Water contains glycol (E option)
min. -10 min. -10
Liquid min. -20 (E version) min. -20 (E version)
Handled max. +90 max. +110
Temperature [°C] | max. +110 (H-HS-HW-HSW version) max. +110 (H-HW-HSW version)
max. +120 (E version) max. +120 (E version)
(For version see page 327+333) (For version see page 327+333)
Maximum working pressure [MPal] 1
Closed centrifugal type for 32, 40, 50 version
Impeller Reinforced laser welding for 40-200/11
. Closed centrifugal three dimensional blades for 65 version and above
Construction - - - -
Shaft seal type Mechanical seal Mechanical seal w_|th statlonary ring secured
against rotation
Bearing Sealed ball bearing
32-125/160/200 Flange DN50 according DIN 2532 Standard
Suction 28:1525128/200 Flange DN65 according DIN 2532 Standard
65-125/160/200/250 Flange DN80 according DIN 2532 Standard
Pipe 80-160/200/250 Flange DN100 according DIN 2532 Standard
Connection 32-125/160/200 Flange DN32 according DIN 2532 Standard
40-125/160/200 Flange DN40 according DIN 2532 Standard
Discharge 50-125/160 Flange DN50 according DIN 2532 Standard
65-125/160/200/250 Flange DN65 according DIN 2532 Standard
80-160/200/250 Flange DN80 according DIN 2532 Standard
32-125/160/200
281525128/200 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
Casing -
65-125/160/200
65-250 / EN 1.4401 (AISI 316)
80-160/200/250 made by precision casting
32-125/160/200
40-125/160/200 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
Impeller 50-125/160 — -
65-125/160/200 EN 1.4401 (AISI 316) made by precision casting
65-250 / EN 1.4401 (AISI 316)
80-160/200/250 made by precision casting
32-125/160/200
40-125/160/200
50-125/160 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
Casing cover 65-125/160/200
80-160
65-250 / EN 1.4401 (AISI 316)
. 80-200/250 made by precision casting
Material 32-125/160/200
40-125/160/200 Ceramic/Carbon/NBR
Mechanical seal 50-125/160 SiC/SiC/FPM (L version)
65-125/160/200
65-250 /
80-160/200/250
O-ring NBR FPM
32, 40, 50,
65-125 d=19
65-160/116 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
65-160/156
65-200
Shaft 65-250 EN 1.4462 (Duplex stainless steel)
80-160 d=24
80-200 (22 KW ) EN 1.4404 (AISI 316L)
80-200 (30-37
kW) EN 1.4462 (Duplex stainless steel)
80-250 d=29
Bracket Cast iron - Alluminium
Applicable standard of test 1ISO 9906 — Annex A

201

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

SPECIFICATION

60Hz

Rev. G

Type

MOTOR

KM | 30)S | 0P

Electric - TEFC

Three Phase

Efficiency level

- from 1.1 kW up to 5.5 kW

IE3* from 1.1 kW up to 55 kW (*only for 460 V) | IE2 from 1.1 kW up to 55 kW
2

No. of Poles
Rotation speed [min'1] ~ 3500
Insulation Class F | F (class B for temperature rise)
Protection degree (CEI EN 60034-5) IP 55
Power rating [kW] 22+22 18.5 + 55
[HP] 3.0 = 30 25+ 75
Frequency [Hz] 60
Voltage V] 220/380-460 +10% (IE3* up to 4.0 kW) 265/460 £10% (up to 4.0 kW)

380-460/660 +10% (IE3* 5.5 kW and above) 460 £10% (5.5 kW and above)

QOver load protection

Provided by the user

Casing material

Aluminium

Motor support

Cast iron — Alluminium

Dimensions of cable entry

PG13.5 - PG16 - PG21 - M20x1.5 - M25x1.5 M40x1.5 - M50x1.5 - M63x1.5

Flange mount (IEC motor)

/ IM B35

*only for 460 V

202

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

SELECTION CHART 60Hz

Rev. G

U.S.g.p.m. 50 60 70 80 90100 120 140 160180200 250 300 350 400 500 600 700 1000

I
Imp.g.p.m. 40 50 60 70 80 90100 120 140 160180200 250 300 350 400 500 600 700 1000

120
100 350
H —~ 300 H
== n 80\350‘\
[m] 80 == amo=uN 55%/555 3 5o [t
32-200/7 0, L NN
2~200/755 T 0205 e BN ENINE
60 ‘ ‘ ‘ [l “ﬁ:— ~~MH 6 N - T~ ’\‘% —200
50 2200555 T Sl il
_ i N /7] 0~ ~
32 160/4-06 e~ L ™ M( 76‘0//‘;‘ ‘: 150
% 1 > N S
o< ‘ﬂ 1" NN
;2‘ ‘6\0/3 06 40‘\/5‘0‘/5; ) N
30 = == ‘%‘ 2% _‘6‘0\/ . —100
A A3\
2z, SN
2-26’ {06’
‘%{ 75
20 2
A Y 0‘/‘5‘
%\ J ‘%’
2\
15 AV — 50
\
— 40
10 \ f
9 — 30
8 I
25
; / /

100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000 2500 3000 4000 5000
Q [I/min]

[ I T 1 I I T 1 I I I I I I I I I ]
6 7 8 910 12 14 16 18 20 25 30 40 50 60 70 100 150 200 3
Q [m¥/h]

203

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

SELECTION CHART 60Hz

Rev. G

3 SERIE 32-40-50 Version

Pump Type | kW] | [HPY I/mn 0| 100| 150 200| 250 300 350| 400 500 600| 700| 833| 1000| 1200 1433
m*/h 0 6 9 12 151 18 21 24| 30| 36| 42| 50| 60| 72| 86
32-125/2.26 22 3 32.3|1 314|304 |286|26.1(23.3|20.2] 17 - - - - - - -
32-160/3.06 3 4 425 41 | 39.6|37.8|354 (325|294 | 26 - - - - - - -
32-160/4.06 4 55 53| 51.5|50.5|48.5|46.5|435| 40 | 366 | - - - - - - -
32-200/5.56 5.5 7.5 64.5| 62.5| 61 59 | 56 | 53 | 485 | 44 - - - - - - -
32-200/7.56 7.5 10 78| 76 | 745]725|695| 66 | 62 | 57 - - - - - - -
40-125/3.06 3 4 29| - - 1282|277 27 [261)|249|223|191|154| 10 - - -
40-125/4.06 4 55 38| - - | 372]|368| 36 [351| 34 |316]|286|25.2| 20 - - -
40-160/5.56 55 7.5 45| - - 44 | 435]425(415| 40 |37.2| 34 |30.7|26.2 - - -
40-160/7.56 75 10 57| - - 56 | 555|545 |535| 52 [ 49 | 46 |425| 38 - - -
40-200/116 11 15 67.5| - - |665| 66 | 65 [63.5| 62 |585| 55 | 51 45 - - -
40-200/156 15 20 83| - - 82 | 81.5(805|795| 78 | 75 | 71.5|67.5| 62 - - -
50-125/5.56 55 7.5 31.8| - - - - - - - 30 |292| 28 | 26 | 22.8| 184|126
50-125/7.56 7.5 10 38| - - - - - - - [36.5|357|34.6| 327|297 |253| 19.5
50-160/116 11 15 48| - - - - - - - 46 | 45 |435| 41 | 374|324 258
50-160/156 15 20 57.5| - - - - - - - 56 | 565 54 | 52 | 49 | 45 | 39

3 SERIE 65-80 Version

Pump Type | kW] | [HP] I/mn 0| 600] 700| 900| 1200( 1400 1600| 1800| 2000| 2100| 2200| 2400| 2500| 3100| 3600| 3800( 4000
m*h 0 36| 42| 54| 72| 84 96| 108] 120| 126| 132 144| 150| 186| 216| 228 240
65-125/5.56 | 55 (7.5 275(257]1249|229|196(17.2|148]122| 95 - - - - - - - -
65-125/7.56 | 7.5 | 10 33.5/31.5|30.7|288|255| 23 |204|17.7]|149]135| - - - - - - -
65-160/9.26 | 9.2 [12.5 38| - |355(33.6|303(279|252|221|18.7| 17 - - - - - - -
65-160/116 11 | 156 43| - 1405|385| 35 |324]29.6|26.6|235|218| 20 - - - - - -
65-160/156 15 | 20 51| - |485| 47 |43.5|415|38.7|359|329|313|295| - - - - - -
65-200/156 15 | 20 56.5| - |535|515]|475|445| 41 |378|344|325| - - - - - - -
65-200/18.56 | 18.5 | 25 63.5| - 61 59 | 556 |525|495| 46 [425|405] 39 - - - - - -
65-200/226 22 | 30 71| - |685]665|625| 60 | 57 |53.5| 50 | 485|465 - - - - - -
65-250/306 30 | 40 80| - - |785| 76 |735|705| 67 [625|605| 58 | 52 - - - - -
65-250/376 37 | 50 91.5| - - 90 [875| 85 |825| 79 [ 75 | 73 | 71 66 | 63 - - - -
80-160/18.56 | 18.5 | 25 40.5| - - - - |388(|379)36.8|356| 35 |343| 33 [324|28.1|238]| 22 -
80-160/226 22 | 30 445| - - - - |425| 42 | 41 |39.7| 39 | 385|37.3|366|324|285|269| 25
80-200/226 22 | 30 50.5| - - - - 47 | 455| 44 |425|415]405|385|375|305| 24 - -
80-200/306 30 | 40 63| - - - - 60 | 59 | 575 | 56 | 55 | 54 | 525|515(445|379|351| 32
80-200/376 37 | 50 7| - - - - |685|675| 66 |[645| 64 | 63 [61.5]/605| 54 | 48 | 45 | 42
80-250/456 45 | 60 85 - - - - 82 | 80 | 78 |755|745| 73 |70.5| 69 |(57.5(455| 40 -
80-250/556 55 | 75 97.5| - - - - |955(935/915|895| 88 | 87 | 84 | 825| 72 | 61 | 555 50

204

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

TYPE KEY AND CURVE SPECIFICATIONS 60Hz
Rev. G
TYPE KEY:
51 [ Cw] o] [Ces] - [meo] / [22]
60 Hz MODEL
2.2 HP 3
3 HP 4
4 HP 5.5
5.5 HP 7.5
7.5 HP 10
9.2 HP 12.5
11 HP 15
POWER CODE 15 HP 20
18.5 HP 25
2 HP 30
0 HP 40
7 HP 50
45 HP 60
55 HP 75
125
IMPELLER DIAMETER CODE 60
00
50
32
DISCHARGE SIZE 40
50
65
80
H
OPTIONS MECHANICAL SEAL HS
HW
HSW
E
MODEL M
S
P
For version 32.40.50 AISI 304 / AISI 304 Impeller *
T AIS| 316L / AISI 316L Impeller L
VERSION For version 65-125/160/200 AISI 304 / AISI 316 Impeller *
AISI 316L / AISI 316 Impeller L
For version 65-250, 80 AISI 316 / AISI 316 Impeller L
3 SERIES
PERFORMANCE CURVE SPECIFICATIONS
The specifications below qualify the curves shown on the following pages.
Tolerances according to ISO 9906 Annex A
The curves refer to effective speed of asynchronous motors at 60 Hz
Measurements were carried out with clean water at 20°C of temperature and with a kinematic viscosity
of v=1mm?%s (1 cSt)
The NPSH curve is an average curve obtained in the same conditions of performance curves.
The continuous curves indicate the recommended working range. The dotted curve is only a guide.
In order to avoid the risk of over-heating, the pumps should not be used at a flow rate below 10% of best
efficiency point.
Symbols explanation:
Q = volume flow rate
H = total head
P, = pump power input (shaft power)
n = pump efficiency
NPSH = net positive suction head required by the pump
205

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

PERFORMANCE CURVE 60Hz
Rev. G
32-125/2.26 (2.2 kW) — Impeller diameter = 133 mm
0 USgpm. 20 30 40 50 60 70 80 90 100 110 120 130
| | | | | | | | | | | | | |
| [ [ [ [ | [ [ [ [ [ 1
" 0 Imp.g.p.m. 20 30 40 50 60 70 80 90 100 110
—120
H H
[m] B [ft]
“ = - 100
\\\ 80
\_\
20 SN
N 60
N
NPSH
[m] [f]]
° NPSH 4 K
m—"
- —| 31020
2
5
1
0 0
0 100 200 300 400 Q [I/min]
[ [ [ [ [ [ [ [ [ [ [ [ [ [ [ 1
0 2 4 6 8 10 12 14 16 18 20 22 24 26 28 Q[m¥h]
3
0, .
K 125/2.26
| —
1
0
0 100 200 300 400 Q [I/min]
70
, ]
60 — = 125/2.26
(7] ] /
50
40 ~
30
0 100 200 300 400 Q [I/min]
Rotation speed ~3480min”'
Test standard: ISO 9906 — Annex A
206

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

PERFORMANCE CURVE 60Hz

Rev. G

32-160/3.06 (3 kW) — Impeller diameter = 151 mm
32-160/4.06 (4 kW) — Impeller diameter = 166 mm

0 USgpm. 20 30 40 50 60 70 80 90 100 110 120 130
| | | | | | | | | | | | | |
[ [ [ [ [ | [ [ [ [ [ 1
o 0 Imp.g.p.m. 20 30 40 50 60 70 80 90 100 110
180
Hoo e L] H
[m] 50 — [ft]
~—_ £0/4'06 160
\\
‘\
B —— \\\ 140
\\ ‘\
~L0, 5 ™~ 120
T~
30 ™~ 100
N
™~
- 80
NPSH
20
[m] [ft]}-60
62
| 540
10 NPSH 44
21 5
0 0
0 100 200 300 400 Q [I/min]
[ [ [ [ [ [ [ [ [ [ [ [ [ [ [ 1
0 2 4 6 8 10 12 14 16 18 20 22 24 26 28 Q[m3]
6
o) ]
o ¢ 160,/4.06
2 "] 160/3.06
| | |
0 L[]
0 100 200 300 400 Q [I/min]
70 T T 1 1
" = 160/3.00
(7] I 160/ 4,06
"~ _
40 -
30
0 100 200 300 400 Q [1/min]

Rotation speed ~3480min”'
Test standard: ISO 9906 — Annex A

207

% E2ARA EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS

3 SERIES

PERFORMANCE CURVE 60Hz
Rev. G
32-200/5.56 (5.5 kW) — Impeller diameter = 186 mm
32-200/7.56 (7.5 kW) — Impeller diameter = 200 mm
0 USgpm. 20 30 40 50 60 70 80 90 100 110 120 130
| ] ] ] ] ] | ] ] ] ] ] | ]
0 Imp.g.p.:'n. 2 30 4 50 60 70 80 % 100 o
80 - 260
[ i e
H | 2 —240 H
— 0
] 70 3o (]
|| \\\ 220
50 A ‘"\\\ , \\\ 000
N~ 00
~ 180
N
\\
50 ~ 160
N
) NPSH 1
40
[m] [ft] 120
620
30 NPSH 4 51100
275 80
20
0 100 200 300 400 Q [I/min]
[ I I I | I I I I I I I I I ]
0 2 4 6 8 10 12 14 16 18 20 22 24 28 Q [m3/n]
8 T T T
Py 200/7.56
kW] 6 — —t—
) o 200/5.56
—
2
0 100 200 300 400 Q [I/min]
60
1 g —
(%] =
40 /
© 200/5.56 X |_#”
200/7.56 —]
20 | | |
0 100 200 300 400 Q [I/min]
Rotation speed ~3480min™
Test standard: ISO 9906 — Annex A
208

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

PERFORMANCE CURVE 60Hz
Rev. G
40-125/3.06 (3 kW) — Impeller diameter = 125 mm
40-125/4.06 (4 kW) — Impeller diameter = 140 mm
0 USgpm. 50 100 150 200 250
| ] ] ] ] ]
1 (IJ Imp.g.p.m. 5|0 1(|)0 15|O Z(IJO
R 120
H H
[m] QS\/‘(O& [ft]
0 —100
— ] 1 - \\\
N 725 ™\ - 80
05 ~
N
20 SN Ny
\\ - 60
N NPSH
N [m] [ft]
N
AN 620140
q _
10 .<' 15
NPSH-——_— 4—_10 B
———'—'—_ 2_
-5
0 0
0 200 400 600 800 Q [I/min]
(I) 1'0 2'0 3'0 4'0 5'0 Q [n: 3/n]
6
L
P [ [ [
G 4 125,/4.06——
— ——
2 125/3.06 —
) -
0 200 400 600 800 Q [I/min]
80 T
n \
" — ~ =~ 125/4.06
60 — = —
~ NG-125,/3.06
50 -
40
0 200 400 600 800 Q [I/min]
Rotation speed ~3480min™
Test standard: ISO 9906 — Annex A
209

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

PERFORMANCE CURVE 60Hz

Rev. G

40-160/5.56 (5.5 kW) — Impeller diameter = 151 mm
40-160/7.56 (7.5 kW) — Impeller diameter = 166 mm

0 US.gpm. 50 100 150 200 250
| ] ] ] ] ]
| I | I |
0 Imp.g.p.m. 50 100 150 200
60
I R e s
— 180
H B H
[m] ~7.56 [ft]
\\ 160
T —H\\ \‘\
—~ ~ 140
40 760 )55 \\\'
\'\6\ 120
T~
SN
\\\\ L 100
™~
- 80
NPSH
20
[m] IR o
612
L
// 15 40
NPSH_| | s
___—/ 10 L 20
2
5
0 0
0 200 400 600 800 Q [I/min]
[ I I I I I 1
0 10 20 30 40 50 Q [m3/h]
8 T T T
P, — 160,/7.56——
W — — —t—
[} — 160/5.56——
" —
4 ——
2
0 200 400 600 800 Q [I/min]
80 T T T
. . 160,/7.56—
70 —_—
(7] — 160 / 5.56 —
60 ———
% /
40
0 200 400 600 800 Q [I/min]

Rotation speed ~3480min™
Test standard: ISO 9906 — Annex A

210

% E2ARA EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS 3 SERIES

PERFORMANCE CURVE 60Hz

Rev. G

40-200/116 (11 kW) — Impeller diameter = 183 mm
40-200/156 (15 kW) — Impeller diameter = 200 mm

0 USgpm. 50 100 150 200 250
| | | | | |
| I I I I
0 Imp.g.p.m. 50 100 150 200
90
= ——
[m] <% 250 [1]
\\
T T T T —— S~~~
T— I
60 ™ 2&/ 116 ~ - 200
—
\\
\\\
T~ —150
NPSH
[m] [ft]
30 — 620 100
A
// 15
NPSH——_f— 4
L —10 |- 50
2 —
-5
0 0
0 200 400 600 800 Q [1/min]
[ I I I I I 1
0 10 20 30 40 50 Q [m3/h]
16 |
P2, | 1200/156
[kw] — \
. | 200/116
”7
4
0 200 400 600 800 Q [1/min]
70
i —
60
(%] 200,/116 —
50 : —
200/156 < \|
40 =
30
0 200 400 600 800 Q [1/min]
Rotation speed ~3480min”'
Test standard: ISO 9906 — Annex A
211

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

PERFORMANCE CURVE 60Hz

Rev. G

50-125/5.56 (5.5 kW) — Impeller diameter = 131 mm
50-125/7.56 (7.5 kW) — Impeller diameter = 140 mm

0 US.gpm. 100 200 300 400 500
| | | | | |
| I I I I
0 Imp.g.p.m. 100 200 300 400
4> mPpm
' I —~ 120
[m] S [1t]
——— \\ /e.j‘/
30 T s 100
\‘
\\ /'9 \\
5 N -
N5 80
\Q%‘ \\
20 \\ \\
N ! - 60
NPSH
[m] [ft]
N
N B
10 el
~
// 620
NPSH
- 20
15
— 7
10
0 0
0 500 1000 1500 Q [I/min]
[ I I I I I 1
0 20 40 60 80 100 Q [m3/h]
8 —
Py — 125/7.56
6 1 I
[kW] //, T T
) — — 125/5.56
2
0 500 1000 1500 Q [1/min]
80
n pum—
[%] 70 ,/’;/ §~\\
= ~ 125/7.56
N [
125/5.56
50 , /
0 500 1000 1500 Q [1/min]

Rotation speed ~3480min™
Test standard: ISO 9906 — Annex A

212

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

PERFORMANCE CURVE 60Hz

60

(m]

40

20

80
(%] 70
60

50

Rev. G

50-160/116 (11 kW) — Impeller diameter = 154 mm
50-160/156 (15 kW) — Impeller diameter = 166 mm

0 US.gpm. 100 200 300 400 500
| | | | | |
| I I I [
0 Imp.gp.m 100 200 300 400
[ R et e
— 180
S~ 7 H
60
\\\//{ 160 [ft]
————
—140
120
\\ 100
N 80
NPSH
[m] 8]0
81 %
- — 40
NPSH — 6120
— 15 120
— 4
10
0
0 500 1000 1500 Q [1/min]
[ I I I I I 1
0 20 40 60 80 100 Q [m3/h]
[ ]
— 160/156
_— 160/116
i |
0 500 1000 1500 Q [1/min]
[ ]
o . — 160/156
T 160/116 |
pd
0 500 1000 1500 Q [1/min]

Rotation speed ~3480min™
Test standard: ISO 9906 — Annex A

213

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3

SERIES

PERFORMANCE CURVE 60Hz
Rev. G
65-125/5.56 (5.5 kW) — Impeller diameter = 121 mm
65-125/7.56 (7.5 kW) — Impeller diameter = 132 mm
0 USgpm. 100 200 300 400 500 600
| | | | | |
0 (I) Imp.g.p.m. 1(|)0 2(|)0 3(|)0 4(|)0 5(|)0
120
H H
[m] T —— [ft]
30 S~ 100
{ - 80
~_ | ~e
2
20 SO Y
6 \\ - 60
N N
NG N
N NPSH | o
NG [m] [ft]
10
3
8
NPSH L ’ A2
1
2
0 0
0 500 1000 1500 2000 Q [I/min]
(|> 2'0 4'0 s'o 8|0 1(')0 12'0 1‘{0 Q [m3/h]
8 T T T
P2 E——— 125/7.56—
[kw] —T 1
\ —— 125/5.56
2
0 500 1000 1500 2000 Q [I/min]
80
n T~
A / ' \
Z4 \\\\ 125,/7.56—
& N
125/5.56
50 | | |
0 500 1000 1500 2000 Q [I/min]
Rotation speed ~3480min™
Test standard: ISO 9906 — Annex A
214

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

PERFORMANCE CURVE 60Hz

Rev. G

65-160/9.26 (9.2 kW) — Impeller diameter = 139 mm
65-160/116 (11 kW) — Impeller diameter = 146 mm
65-160/156 (15 kW) — Impeller diameter = 157 mm

0 USgpm. 100 200 300 400 500 600
| | | | | | |
| | | | | [
5 0_mPgpm. 100 200 300 400 500
H H
I e O N (]
\\\ 160 /1 56 —150
40 Minnt
N~ [ ‘
——— I 7 N
T 2 6 \\‘\
~ 16
I~ 0/926 \\\ \\ 100
\\ N
N
N
20 ™ ™ NPSH
N [m] [f]
62050
L~
NPSH RS — 4"
10
205
0 0
0 500 1000 1500 2000 Q [I/min]
[ [ [ [ [ [ [ [
0 20 40 60 80 100 120 140 Q [m3/h]
24
T ]
P2 160/156 |
. ——
160/116 = 160,/9.26
[ |
0
0 500 1000 1500 2000 Q [I/min]
90
n
[%] 80 \\
—= S ~160/156—
70 ,é = \\\\‘ L
160/116 7 NN
] 160/9.26
60 ,
0 500 1000 1500 2000 Q [I/min]

Rotation speed ~3480min”'
Test standard: ISO 9906 — Annex A

215

% E2ARA EBARA PUMPS EUROPE S.p.A.




3 SERIES

CENTRIFUGAL PUMPS

PERFORMANCE CURVE 60Hz
Rev. G
65-200/156 (15 kW) — impeller diameter = 165 mm
65-200/18.56 (18.5 kW) — impeller diameter =175 mm
65-200/226 (22 kW) — impeller diameter = 184 mm
0 USgpm. 100 200 300 400 500 600
| | | | | | |
80 (I) Imp.g.p.m. 1(I)O 2(|)0 3(|)0 4(|)0 5(|)0
250
" T T )
[m] ~ [ft]
2
i Loz
60 ‘ 200
(S S A . i \\@/]856 —
\\“\\ 2;\!\\ \\
% T
~ 15 ™~
\i‘\ \\\ ™ 150
40 ~ S~
\\\
™~
100
NPSH
[m] [ft]
20 895
L 62050
NPSH 1 ot
10
215
0 0
0 500 1000 1500 2000 Q [I/min]
(I) 2‘0 4‘0 slo 8|0 1(‘)0 12‘0 1)#0 Q [m3/h]
30 T T T
P2 200/226 —
[kw] 2 — |
p— [
10 2Po/1 8.5‘6>"’s::' 200/156
. L .
0 500 1000 1500 2000 Q [I/min]
90
n
[%] 80 /R\ 200/226 —
T — ‘
1
7 200/1 8.56:/ 200/156
. ] 1
0 500 1000 1500 2000 Q [I/min]
Rotation speed =3520 min-1
Test standard : ISO 9906 Annex A
216

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

PERFORMANCE CURVE 60Hz
Rev. G
65-250/306 (30 kW) — Impeller diameter = 203 mm
65-250/376 (37 kW) — Impeller diameter = 216 mm
0 U.S.g.p.m.100 200 300 400 500 600 700
| | | | | | | |
| I I I I [ I
00 0 Imp.g.p.m. 100 200 300 400 500 600
H e e e 300 H
[ —
[m] T~ 250/375 [#t]
80 - = ™~
T~ \250L3 ‘ ™S 250
\\06 N
\\ \\\
A - 200
60 ~
NPSH
[m] [] [~ 10
40 812
— ~— 62
NPS—H_ —T 4L ¥-100
—_— | 10
275
20
0 500 1000 1500 2000 2500 Q [1/min]
[I) 2‘0 4‘0 slo 8|0 1(‘)0 12‘0 1‘|¢o 1%0 Q [rr: 3/h]
40 T T
P2 = 250/376
30 7” ! !
kW — [y I
o ——— 250/306
20 =
10
0 500 1000 1500 2000 2500 Q [1/min]
80 T 1
n _— T %50{376
[%] 70 / ~ —
250/306
60
50
0 500 1000 1500 2000 2500 Q [1/min]
Rotation speed =3520 min-1
Test standard : ISO 9906 Annex A
217

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

PERFORMANCE CURVE 60Hz
Rev. G
80-160/18.56 (18.5 kW) — Impeller diameter = 151 mm
80-160/226 (22 kW) — Impeller diameter = 157 mm
0 USgpm. 200 400 600 800 1000 1200
| | | | | | |
| I I I I [
0 Imp.g.p.m. 200 400 600 800 1000
% 160
H SR -~
[m] 140 1)
HWFT—T——T—"T— = \\ /50
~ WQQQS\ 120
NG5 I
N ] 100
30 I C
N N
N - 80
20
60
NPSH
[m] [ft] |49
10 10
NPSH g ¥
—| 62020
4_
, 10
0 0
0 1000 2000 3000 4000 Q [1/min]
(I) 5'0 1(')0 15'0 2(')0 2%0 Q [n:3/h]
24 T T T
P, 160/226
k] 20 — —
e — 160/18.56
16 —
12
0 1000 2000 3000 4000 Q [1/min]
90 T 1
n 160,/226
[%] 80 \:\‘
~ 160,/18.56
70 -
/
/
/
60
0 1000 2000 3000 4000 Q [I/min]
Rotation speed =3520 min-1
Test standard : ISO 9906 Annex A
218

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

PERFORMANCE CURVE 60Hz

Rev. G

80-200/226 (22 kW) — Impeller diameter = 168 mm
80-200/306 (30 kW) — Impeller diameter = 185 mm
80-200/376 (37 kW) — Impeller diameter = 194 mm

0 USgpm. 200 400 600 800 1000 1200
| | | | | | |
| | | | | [
5o 0 mPgpm. 200 400 600 800 1000
- 250
H —r——l H
[m] T~ o [f]
I IR T D N
60 == \‘Yéb 6 200
T~~~
I~k 200
S /5
. . \\06‘\ \ -
T~ N 150
TN ~N
40 370/22 \‘
N i ~N
~
\\‘\ 100
NPSH
™ [m] (1]
20 — 85
NPSH — 6——20—50
L ot
27 5
0 0
0 1000 2000 3000 4000 'a [1/min]
[ I | I | I 1
0 50 100 150 200 250 Q [m3/h]
40 T T T
P, — 200/376
[kw] %0 — —— 200/306
el p— }
p—
20 — 200/226
qum— | |
0 1000 2000 3000 4000 Q [1/min]
90
n
(%] 80 —
— — \
= Y 20/37
70 7 ™~ 200/306
200,/226
60 —f—
0 1000 2000 3000 4000 Q [I/min]

Rotation speed =3520 min-1
Test standard : ISO 9906 Annex A

219

% E2ARA EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS 3 SERIES

PERFORMANCE CURVE 60Hz

Rev. G

80-250/456 (45 kW) — Impeller diameter = 206 mm
80-250/556 (55 kW) — Impeller diameter = 218 mm

0 USgpm. 200 400 600 800 1000 1200
| ] ] ] ] ] |
| I I I I |
0 Imp.g.p.m. 200 400 600 800 1000
100 T~
! T~ 2 - 300
0
—_— L N
[m] 0 - - 7‘\ f\ [ft]
N2 N - 250
\ % N
\56'
\\
60 \\ - 200
AN 150
40
NPSH 100
[m] [ft]
20 8 2%
NPSH — 6— 2050
| 4
10
215
0 0
0 1000 2000 3000 4000 Q [I/min]
[ I I | I | ]
0 50 100 150 200 250 Q [m3/h]
70 T T T
Py ——250/556
[kw] >0 T — 1
— — 250/456
30 —
10
0 1000 2000 3000 4000 Q [I/min]
80
n /Q? ——
[%] 70 S
5 NN 250/556
60 \\ —
250/456
50 ——
0 1000 2000 3000 4000 Q [I/min]
Rotation speed =3520 min-1
Test standard : ISO 9906 Annex A
220

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 60Hz

Rev. G

SECTIONAL VIEW DRAWING 3(.)M 32, 40, 50, 65

UP TO 11 kW
1 4 26 72 56 16 17 58 6 12 21

g\l

[

32 5 ,

S O

iy
A
Ql
© i3
0| DT
S

34

it I T
N\ ]

N

200 113 23518 92 19 22 42 20 13

v

15 kW AND ABOVE
1 4 26 206 %6 17 56 6 12 21

)

30— 1|

34—

7y

300

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION

60Hz

Rev. G
SECTIONAL VIEW TABLE 3(.)M 32, 40, 50
N° PART NAME MATERIAL DIMENSIONS STANDARD QTY
3M 3LM
001 |Casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
003 |Motor bracket [3] 1
004 |Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
006 | Shaft with rotor-Part in contact with liquid EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
007 |Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
011 [Mechanical seal [5] Carbon / Ceramic / NBR SiC/SiC/FPM see p.310-311 1
012 |Motor frame with stator - 1
013 |Motor cover Aluminium 1
014 |Fan PA 1
015 |Fan cover Fe P04 Zincate 1
016 | Terminal - 1
017 | Terminal box cover Aluminium (three phase version) 1
018 |Splash ring NBR - 40x21.5x3 EBARA DRAWING| [6]
019 |Bearing - See table p. 309 1
020 |Bearing - See table p. 309 1
021 |Adjusting ring Steel C70 1
For2.2 -3 kW M5
022 [Tie rod For4 -55-7.5kW Fe 42 Zincate M6 EBARA DRAWING| 4
For9.2-11-15kW M8
25 |Draing plug EN 1.4401 (AISI 316) / PTFE R 1/8" L=8 DIN 906 1
32-125, 40-125 158.11x5.34 OR 6625
026 |"0" ring 40-160, 50-125 NBR [4] EPM 183.52x5.34 OR 6720 1
2(2):1 gg: gg:ggg’ 227.96x5.34 OR 6895
032 |Key EN 1.4401 (AISI 316) 6x6x25 UNI 6604 1
034 |Impeller nut A.270 EN ISO 35062 M16x1.5 UNI 7474 1
042 |Foot Aluminium / Zincate steel EBARA DRAWING| 1
056 |Box gasket NBR 1
058 |Fasting nut - 1
072 |Casing ring [1] EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
073 |Casing ring EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
For 2.2 - 3 kW 25x40x7
092 |Lip seal For4-55-7.5kW - - 30x47X7 DIN 3760 1
without spring
For9.2-11-15kW 40x55x7
For 2.2 - 3 kW 25x40x7
093 [Lip seal For4-55-7.5kW - - 30x47X7 .DIN 376(.) 1
without spring
For9.2-11-15kW 40x55x7
101 |Snap ring (only for 9.2 - 11 - 15 kW) Carbon tool steels TC 80 a 40 UNI 7435 1
32-125, 40-125 M 8x30 UNI 5739 8
32-160, 32-200 .
200 [Screw 40-160. 40-200, Stainless steel A2 70 class ISO 3506/1 M 1035 UNI 5739 2]
50-125, 50-160
32-125, 40-125 8.4x17
32-160, 32-200
235 |Washer 40-160, 40-200, EN 1.4301(AISI 304) 10.5x21 UNI 6592 [2]
50-125, 50-160
Counterflange kit on request see p. 329-330
[1] For version 32-200/5.56, 32-200/7.56, 40-200/5.5, 40-200/116, 40-200/156
50-160/116, 50-160/156
[2] Quantity =10 for 32-160, 40-160, 50-125
Quantity =12 for 32-200, 40-200, 50-160, 50-200
[3] Material: Aluminium EN 1706 AC 46000 D for version, 40-200/116, 40-200/156, 50-160/116,
50-160/156, 50-200/9.26, 50-200/116
Cast iron EN-GJL-200-EN 1561 for other versions.
[4] FPM for H, HS, HW, HSW version
EPDM for E version
[5] Special version: see page 321 and following
[6] Quantity =1, not for L version
301

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION

60Hz

SECTIONAL VIEW TABLE 3(.)M 65

Rev. G

N° PART NAME

3M

MATERIAL

3LM

DIMENSIONS

STANDARD QTY

>

001 |Casing

EN 1.4301 (AISI 304)

EN 1.4404 (AISI 316L)

003 |Motor bracket

[6]

004 |Casing cover

EN 1.4301 (AISI 304)

EN 1.4404 (AISI 316L)

006 | Shaft with rotor

EN 1.4301(AISI 304)
Part in contact with liquid

EN 1.4404(AlISI 316L)
Part in contact with liquid

007 |Impeller EN 1.4401 (AISI 316) 1
011 |Mechanical seal [8] Carbon / Ceramic / NBR ‘ SiC/SiC/FPM See p.321+326 1
012 |Motor frame with stator - 1
013 |Motor cover Aluminium 1
014 |Fan PA 1
015 |Fan cover Fe P04 Zincate 1
016 | Terminal - 1
017 | Terminal box cover Aluminium 1
. Up to 11 kW 40x21.5x3
018|Splash ring }1:kw and above NBR / 50x29.5:3 EPE DRAWING [1
019 |Bearing - See table p.319 1
020 |Bearing - See table p.319 1
021 |Adjusting ring Steel C70 1
022 Tie rod Up to 11 kW Fe 42 Zincate EPE DRAWING 4
Screw 15 kW and above Zn. Steel 8.8 strenght class ISO 898/1 UNI 5739
025 | Draing plug EN 1.4401 (AISI 316) / PTFE R 1/8" L=8 DIN 906 1
- 65-125 183.52x5.34 OR 6720
026]°0"1ing 65760, 65-200 NBR 7] FPM 227.96%5.34 OR 6895 !
032|Key Up to 11 kW EN 1.4401 (AISI 316) X625 UNI 6604 1
15 kW and above 8x7x30
034 |impelier nut [P0 1T KW EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) M16x1.5 UNI 7474 1
15 kW and above M20x1.5
042 |Foot Aluminium / Zincate steel EPE DRAWING [2]
056 |Box gasket NBR 1
058 |Fasting nut - [3]
Up to 7.5 kW 30x47X7
092 |Lip seal From 9.2 kW to 11 kW - 40x55x7 _DIN 376(_) 1
without spring
From 15 kW to 22 kW 45x60x7
For 4 kW 25x40x7
. From 5.5 kW to 7.5 kW 30x47X7 DIN 3760
093 [Lipseal e 2 kW to 11 kW ; 40X55x7 without spring !
From 15 kW to 22 kW 45x60x7
101 |Snap ring (only 9.2 and 11kW) Carbon tool steels TC 80 340 UNI 7435 1
200 |Screw Stainless steel A2-70 class ISO 3506/1 M 10x35 UNI 5739 [4]
206 |Screw for bracket [5] Zincate steel 8.8 strenght class ISO 898/1 M 10x40 UNI 5739 4
244 |Pin [9] ‘ EN 1.4301 (AISI 304) 4x15 1
235|Washer EN 1.4301(AISI 304) 10.5x21 UNI 6592 12

Counterflange kit on request see p. 329-330

[1] Quantity =1, not for L version

[2] Quantity =0 for version 65-160/156

Quantity =1 for version 65-125/5.56, 65-125/7.56, 65-160/9.26, 65-160/116,
Quantity =2 for version 65-200/156, 65-200/18.56, 65-200/226

[3] Quantity =1 Up to 11 kW
Quantity =2 from 15 kW to 22 kW
[4] Quantity =10 for 65-125

Quantity =12 for 65-160 and 65-200

[5] For 15 kW and above

[6] Material: Aluminium EN 1706 AC 46000 D for version 65-160/9.26, 65-160/116.
Cast iron EN-GJL-200-EN 1561 for other versions

[7]1 FPM for H, HS, HW, HSW version

EPDM for E version

[8] Special version: see page 321 and following

[9] Only for 65-160/156 and 65-200

302

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



60Hz

3 SERIES

SECTIONAL VIEW DRAWING 3LM 80-160

CENTRIFUGAL PUMPS
CONSTRUCTION

v00¢
10C 0¢C €6 1Z 0C ¢¢ v 9 6l C6 ¥¥200CGEC LI ¥& 8L 9L ST |

INERNNRR
~ S

Htﬁ__lu
4

LL ¥C SL SL vl ¢l ¢l 85 Ll 91 9690C 8L & 9¢ ¥ €€ L

303

EBARA PUMPS EUROPE S.p.A.

_—J=-TETY



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION 60Hz
Rev. G
SECTIONAL VIEW TABLE 3LM 80-160
N° PART NAME MATERIAL DIMENSIONS STANDARD Q.TY
001 |Casing EN 1.4401 (AISI 316) 1
003 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4404 (AISI 316L) 1
006 |Shaft with rotor EN 1.4404(AlSI 316L) -Part in contact with liquid 1
007 |Impeller EN 1.4401 (AISI 316) 1
011 |Mechanical seal [3] SiC/SiC/FPM See p. 321+326 1
012 |Motor frame with stator - 1
013 |Motor cover Aluminium 1
014 |Fan PA 1
015 |Fan cover Fe P04 Zincate 1
016 [Terminal - 1
017 |Terminal box cover Aluminium 1
018 |Splash ring NBR 50x29.5x3 EPE DRAWING 1
019 [Bearing - See table p. 319 1
020 |Bearing - See table p. 319 1
021 |Adjusting ring Steel C70 1
022 |Screw Zn. Steel 8.8 strenght class ISO 898/1 UNI 5739 4
024 |Plug EN 1.4404 (AISI 316L) G 3/8 EPE DRAWING 1
025 |Plug EN 1.4404 (AISI 316L) G 3/8 EPE DRAWING 1
026 |"O"ring FPM 227.96x5.34 OR 6895 1
032 |Key EN 1.4401 (AISI 316) 8x7x30 UNI 6604 1
034 |Impeller nut EN 1.4404 (AISI 316L) M20x1.5 UNI 7474 1
042 |Foot Aluminium EPE DRAWING 2
056 |Box gasket NBR 1
058 [Fasting nut - 2
075 |Washer (plug) EN 1.4404 (AISI 316L) 1
076 |Washer (plug) 1
077 |O-ring (plug) 1
078 |O-ring (plug) FPM 2] 1
092 Lip seal - 45x60x7 .DIN 376(.) 1
without spring
093 Lip seal - 45x60x7 .DIN 3769 1
without spring

200 |Screw Stainless steel A2-70 class ISO 3506/1 M 10x35 UNI 5739 10
200A |Screw M 10x30 2
201 |Screw Zincate steel 8.8 strenght class ISO 898/1 M 12x40 UNI 5739 4
206 |Screw for bracket Zincate steel 8.8 strenght class ISO 898/1 M 10x40 UNI 5739 4
230 |Washer Zincate steel 13x24x2.5 UNI 6592 4
235 |Washer EN 1.4301(AISI 304) 10.5 UNI 6592 12
244 |Pin  [1] EN 1.4301(AISI 304) 4x15 1

Counterflange kit on request, see p. 329-330

[1] Not for H, HW, HSW, E version

[2] EPDM for E version

[3] Special version: see page 321 and following

304

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION

60Hz

SECTIONAL VIEW DRAWING 3(.)S 32, 40, 50

DN

l

& ©

| | A

— TI&‘I

uuuu uuuuy, |

H%%

7

75 54 32 25 200

iz
LY
235

T

Rev. G

305

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION 60Hz
Rev. G
SECTIONAL VIEW DRAWING 3(.)S 65-125/160/200
BA ‘W‘— V‘\‘
& O
— ]
mn | | mmn
i il
,i‘qﬁp iiiiiii ﬂﬁ_ iiiiii
7 4 26 11 3 4}4 206 7 -
Wiwii / / \@ Sl
By /‘ ‘
N R E}
e f 1 I
I J R
L, iEi il =] I
1
| ] L \um‘m
/‘ | 10C DUUUUDUUUUDUU ]
‘ . J
| /L ] -
]‘ jj% ,\\\j on } / \II;J
T T — HL 7J;777JL'L{#>7777 77777 ~ jJ},—}[Lfffff\fff/ 777777 JEJ jff T T
R A A A O = T mill
34 32 25 Lo44 6 42 12
306

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION

60Hz

Rev. G
SECTIONAL VIEW TABLE 3(.)S 32, 40, 50, 65-125/160/200
N° PART NAME 3s MATERAL aLs DIMENSIONS STANDARD QTY
001 [Casing EN 1.4301 (AISI 304) EN 1.4404 (AISI316L) 1
003 |[Motor bracket Cast iron EN-GJL-200-EN 1561 1
003A |Adapter ring [1] Cast iron EN-GJL-200-EN 1561 1
004 [Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
006 |Coupling - Part in contact w ith liquid EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) See table p. 326 1
EN 1.4301 (AISI 304) EN 1.4404 (AISI316L)
007 | impeler EN 1.4401 (AISI316) [9] !
011 |Mechanical seal [7] Carbon/Ceramic/NBR | SiC/SiC/FPM See p. 321-326 1
012 [Motor - 1
025 [Draing plug EN 1.4401 (AISI316) / PTFE R1/8" L=8 DIN 906 1
32-125, 40-125 158.11x5.34 OR 6625
32-160, 40-160, 50-125,
026 ["0"ring 65-125 NBR [8] FPM 183.52x5.34 OR6720 1
32-200, 40-200,50-160,
65-160, 65-200 227.96x5.34 OR 6895
Up to 11 kW 6x6x25
2 |K EN 1.4401 (AISI 31 NI 4 1
032 |Key 75 KW and above 01(ASI316) 8x7x30 UNI 660
Up to 11kW M16x1.5
034 [Impeller nut 75 KW and above EN 1.4301 (AISI 304) EN 1.4404 (AISI316L) NEOXTE UNI 7474 1
042 |Foot Aluminium/ Zinc-coated steel [2]
044 |Protection EN 1.4301 (AISI 304) EBARA DRAWING 1
072 |Casing ring [3] EN 1.4301 (AISI304) EN 1.4404 (AISI316L) 1
073 [Casing ring (not for 65 version) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
32-125, 40-125 M 8x30 UNI 5739 8
40-160, 40-200, 50-125
200 (S ’ ’ ’ Stainl teel A2 70 cl ISO 3506/1
crew 50-160, 50-200, 65-125, aimess stee cass M 10x35 UNI 5739 [4]
65-160, 65-200
201 |Screw Zn. Steel 8.8 strenght class I1SO 898/1 M10x16 UNI 5739 [5]
206 |Screw for bracket Zn. Steel 8.8 strenght class ISO 898/1 M 10x40 UNI 5739 4
206-2 |Screw adapter ring [1] Zn. Steel 8.8 strenght class ISO 898/1 UNI 5931 4
32-125, 40-125 M8.4x17 UNI 6592 8
40-160, 40-200, 50-125 .
235 [Wash ’ ’ ! Stainl teel A2 70 cl I1SO 3506/1
asher 50-160, 50-200, 65-125, ainiess stee class M10.5x21 UNI 6592 4]
65-160, 65-200
244 |Pin [6] - | EN 1.4301 (AISI 304) UNI'5931 4

Counterflange kit on request see p. 328-329

[1] Only for version 65-125/5.56 and 65-125/7.56

[2] Quantity =0 for version 65-200/226

Quantity =1 for version for 32, 40, 50, 65-125/5.56, 65-125/7.56, 65-160/116, 65-160/156, 65-200/156, 65-200/18.56

Quantity =2 for version for 65-160/9.26
[3] Only for version 32-200, 40-200, 50-160

[4] Quantity =10 for 32-160, 40-160, 50-125, 65-125

Quantity =12 for 32-200, 40-200, 50-160, 65-160, 65-200

[5] Only for version 32-125, 32-160, 40-125
[6] Only for 65-160/156, 65-200

[7] Special version: see page 321 and following

[8] FPM for H, HS, HW, HSW version
EPDM for E version
[9] Only for version 65-125/160/200

307

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



3 SERIES

CENTRIFUGAL PUMPS

60Hz

CONSTRUCTION

Rev. G

SECTIONAL VIEW DRAWING 3LS 80-160

V002
cl [44 9 ¥¥C 00C S¢€C 8. 9. GC
- | -]
R 1
/ N 4 |
/ ] — /?
1_:%:%%:%@
1000000000040 )
‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘ N == _
ST IU
D@%SDSS@D
" B L
) ﬂ\\m |
col / *
©) |
ﬁﬂg
LL ¥C 6L Ww ¢ W 9 v ¢ L £

308

EBARA PUMPS EUROPE S.p.A.

_—J=-TETY



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION 60Hz
Rev. G
SECTIONAL VIEW TABLE 3LS 80-160

N° PART NAME MATERIAL DIMENSIONS STANDARD Q.TY
001 |Casing EN 1.4401 (AISI 316) 1
003 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4404 (AISI 316L) 1
006 |Coupling EN 1.4404 (AISI 316L) See table p. 327 1
007 |Impeller EN 1.4401 (AISI 316) 1
011 |Mechanical seal  [3] SiC/SiC/FPM See p. 321+326 1
012 |Motor - 1
024 |Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING 1
025 |Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING 1
026 |"O"ring FPM [2] 227.96x5.34 OR 6895 1
032 |Key EN 1.4401 (AISI 316) 8x7x30 UNI 6604 1
034 |Impeller nut EN 1.4404 (AISI 316L) M20x1.5 UNI 7474 1
042 |Foot Aluminium EPE DRAWING 2
044 |Protection EN 1.4301 (AISI 304) EPE DRAWING 2
075 |Washer (plug) 1
076 |Washer (plug) EN 1.4404 (AISI 316L) 1
077 |O-ring (plug) 1
078 |O-ring (plug) FPM 12] 1
200 |Screw Stainless steel A2-70 M 10x35 UNI 5739 10
200A |Screw class ISO 3506/1 M 10x30 2
235 |Washer EN 1.4301(AISI 304) 10.5x21 UNI 6592 12
244 |Pin [1] EN 1.4301(AISI 304) 4x15 1

Counterflange kit on request see p. 329-330

[1] Not for H, HW, HSW, E version.
[2] EPDM for E version

[3] Special version: see page 321 and following

309

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 60Hz

Rev. G

SECTIONAL VIEW DRAWING 3LS 65-250,80-200/250

75 24 77

/H H%
UL H
k_——gih I
S |l
T
ol s
%__IQH‘\\ T’
LA g
) j =) =2
n\ﬁ am | jasas] Tm ©
= 3
N
3 | :
S q 2
- N— ] u <
~—  F T
g | <+
~ /) 1= | o
R I -
-— o]
(3]

310

% E2ARA EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION 60Hz
Rev. G
SECTIONAL VIEW TABLE 3LS 65-250, 80-200/250
N° PART NAME MATERIAL DIMENSIONS STANDARD Q.TY
001 |Casing EN 1.4401 (AISI 316) 1
003 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
003A |Adapter ring Cast iron EN-GJL-200-EN 1561 [1]
004 |Casing cover EN 1.4401 (AISI 316) 1
004A |Screw for casing cover EN 1.4301(AISI 304) 2
~ - EN 1.4404 (AISI 316L) for 22 kW 1
65-250| d=24 MM | =52462 (Duplex stainless steel) for 30-37 kW 1
006 Coupling : - EN 1.4404 (AISI 316L) for 22 kW See table p. 326 1
80-200| d=24 mm | =57462 (Duplex stainless steel) for 30-37 kW 1
80-250| d=29 mm EN 1.4462 (Duplex stainless steel) 1
007 [Impeller EN 1.4401 (AISI 316) 1
011 [Mechanical seal [6] SiC/SiC/FPM See p. 321-326 1
012 |Motor - 1
024 |Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING 1
025 |Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING 1
026 |"O"ring FPM [5] 253.36x5.34 OR 6995 1
65-250 | 1
032 |Key 80-200 | 4724 MM EN 1.4401 (AISI 316) 8x7x30 UNI 6604 1
80-250 | d=29 mm 8x7x40 1
. 65-250 | _ 1
034 :‘;fe"e" 80-200 | 4724 MM EN 1.4404 (AISI 316L) M20x1.5 UNI 7474 1
85-250 | d=29 mm M24x2 1
042 |Foot for motor Aluminium [2]
042A|Foot for pump Aluminium/zincate steel (only for 80-250/55) EPE DRAWING [3]
075 [Washer (plug) 1
076 |Washer (plug) EN 1.4404 (AISI 316L) 1
077 |O-ring (plug) 1
078 |O-ring (plug) FPM 5] 1
200 |Screw Stainless steel A2-70 class ISO 3506/1 M 12x45 UNI 5739 10
235 |Washer C70 13 UNI 1751 10
244 |Pin [4] EN 1.4301(AISI 304) 4x12 1
Counterflange kit on request, see table p. 329-330
[1] Only for 65-250/376 , 80-200/376 , 80-250/456 and 80-250/556
[2] Quantity =2 for only 80-250/556
[3] Quantity =2 for 80-200/306, 80-200/376, 80-250/456
Quantity =1 for 80-250/556
[4] Not for H, HW, HSW, E version
[5] EPDM for E version
[6] Special version: see page 321 and following

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 60Hz

Rev. G

SECTIONAL VIEW DRAWING 3(.)P 32, 40, 50, 65-125/160/200

;

58

\; |
@ w .
e}

=L

42A

44

33

BA

67 93

20

42

66 19 6
244

72

92

200

25

312

% E2ARA EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION

60Hz

Rev. G
SECTIONAL VIEW TABLE 3(.)P 32, 40, 50, 65-125/160/200
N° PART NAME 3p MATERIAL 3Lp DIMENSIONS STANDARD QTY
001 |Casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
003 |Support Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
006 |Shaft - Part in contact with liquid EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
006A |Flexible coupling Cast iron EN-GJL-250-EN 1561 See table pag. 328 1
EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
007 (Impeller EN 1.4401 (A‘ISI 316) [6] !
011 |Mechanical seal [5] Carbon/Ceramic/NBR SiC/SiC/FPM See p. 321+326 1
012 |Motor - 1
019 |Bearing - See table p. 320 1
020 |Bearing - See table p. 320 1
025 |Draing plug EN 1.4401 (AISI 316) / PTFE R 1/8" L=8 DIN 906 1
32-125, 40-125 158.11x5.34 OR 6625
. 3551 %%_?2'51 60. 501 183.52x5.34 OR 6720
026 |"O"ring - NBR [4] FPM 1
32-200, 40-200, 50-
160, 65-160, 65- 227.96x5.34 OR 6895
200
Up to 11 kW 6x6x25
032 |Key 15 KW and above EN 1.4401 (AISI 316) X730 UNI 6604 1
033 |Key C 40 8x7x40 UNI 6604 1
034 [Impeller nut Up to 11kW EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) M16x1.5 UNI 7474 1
15 kW and above M20x1.5
042 |Pump support Fe 37 Zincate EBARA DRAWING 1
42A |Base Fe 37 Zincate 1
044 |Protection Fe 37 Zincate 1
050 |Foot Aluminium / Zincate steel 1
058 |Fasting nut - 1
066 |Impeller side bearing cover Cast iron EN-GJL-200-EN 1561 1
067 |Motor side bearing cover Cast iron EN-GJL-200-EN 1561 1
072 |Casing ring [1] EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
073 |Casing ring (not for 65 version) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
092 |"V"ring - VS - 0030 1
093 |"V"ring - VS - 0030 1
32-125, 40-125 M 8x30 UNI 5739 8
40-160, 40-200, 50
200 |[Screw 125, 50-160, Stainless steel A2 70 class ISO 3506/1
65-125, 65-160, 654 M 10x35 UNI 5739 [2]
200
244 |Pin [3] / EN 1.4301 (AISI 304) 4x15 1
Counterflange kit on request see p. 329-330
[1] For version: 32-200/5.56, 40-200/116, 50-200/116, 50-200/156
[2] Quantity =10 for 32-160, 40-160, 50-125, 65-125
Quantity =12 for 32-200, 40-200, 50-160, 65-160, 65-200
[3] Only for 65-160/156 and 65-200
[4] FPM for H, HS, HW, HSW version
EPDM for E version
[5] Special version: see page 321 and following
[6] Only for 65-125/160/200
313

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 60Hz
Rev. G
SECTIONAL VIEW DRAWING 3LP 80-160
3
0
M o
el <+
5
o ‘ | |
[T} L i 1|
" |
|
|
= | 3
2 | T o3
S | S8
8 |
| 3
1
: ‘ JEH =
|
H BM il
i :\a l \“ '\\ 2 QR
314

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 60Hz

Rev. G

SECTIONAL VIEW DRAWING 3LP 65-250, 80-200/250

42

6 20 67 93

1 244 3

92 66 89 19

200

235

NNNNNNNN

315

% E2ARA EBARA PUMPS EUROPE S.p.A.



3 SERIES

CENTRIFUGAL PUMPS

60Hz

CONSTRUCTION

Rev. G

SECTIONAL VIEW DRAWING 3LP 65-250, 80-200/250

316

EBARA PUMPS EUROPE S.p.A.

_—J=-TETY



3 SERIES

CENTRIFUGAL PUMPS

CONSTRUCTION 60Hz
Rev. G
SECTIONAL VIEW TABLE 3LP 80-160
N° PART NAME MATERIAL DIMENSIONS STANDARD | Q.TY
001 |Casing EN 1.4401 (AISI316) 1
003 |Support Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4404 (AISI316L) 1
006 |Shaft EN 1.4404 (AISI316L) - Wet extension 1
006A |Flexible coupling Cast iron EN-GJL-250-EN 1561 See table p. 328 1
007 |Impeller EN 1.4401 (AISI316) 1
011 |Mechanical seal [3] SiC/SiC/FPM See p. 321+326 1
012 |Motor - 1
019 |Bearing - See table p. 320 1
020 |Bearing - See table p. 320 1
024 |Plug EN 1.4404 (AISI316L) G3/8 EPE DRAWING| 1
025 |Plug EN 1.4404 (AISI316L) G3/8 EPE DRAWING| 1
026 |"O"ring FPM [2] 227.96x5.34 OR 6895 1
032 |Key EN 1.4401 (AISI 316) 8x7x30 1
NI 4
033 |Key C40 8x7x40 UNI660 1
034 |Impeller nut EN 1.4404 (AISI 316L) M20x1.5 UNI 7474 1
042 |Pump support Zincate steel EPE DRAWING| 1
042A |Base Zincate steel EPE DRAWING 1
044 |Protection Zincate steel EPE DRAWING 1
050 |Foot Aluminium EPE DRAWING| 2
050A |Spacer for pump / /
050B |Spacer for pump / /
050C |spacer for protection / /
066 [Impeller side bearing cover Cast iron EN-GJL-200-EN 1561 1
067 |Motor side bearing cover Cast iron EN-GJL-200-EN 1561 1
075 |Washer (plug) 1
076 [Washer (plug) EN 1.4404 (AISI 316L) 1
077 |O-ring (plug) 1
078 |O-ring (plug) FPM [2] 1
089 |Snap ring Carbon tool steels TC 80 40 UNI 7435 1
092 "V“ r!ng i VS-0030 1
093 ["V"ring 1
200 |Screw Stainless steel A2 70 class ISO 3506/1 M 10x35 10
UNI 5739

200A |Screw M 10x30 2
235 |Washer EN 1.4301(AISI 304) 10.5 UNI 8842 12
244 |Pin [1] EN 1.4301(AISI 304) 4x15 UNI 6873 1

Counterflange kit on request, see table p. 329-330

[1] Not for H, HW, HSW, E version.

[2] EPDM for E version

[3] Special version: see page 321 and following

For drawing see p.314

317

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION 60Hz
Rev. G
SECTIONAL VIEW TABLE 3LP 65-250, 80-200/250
N° PART NAME MATERIAL DIMENSIONS | STANDARD | Q.TY
001 |Casing EN 1.4401 (AISI316) 1
003 |Support Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4401 (AISI316) 1
004A |Screw for casing cover EN 1.4301 (AISI 304) 2
006 |Shaft EN 1.4462 (Duplex stainless steel) - Wet extension 1
006A [Flexible coupling Cast iron EN-GJL-250-EN 1561 See table p. 327 1
007 |Impeller EN 1.4401 (AISI316) 1
011 |Mechanical seal [5] SiC/SiC/FPM See p. 321-326 1
012 |Motor - 1
019 [Bearing - See table p. 320 1
020 |Bearing - See table p. 320 1
024 |Plug EN 1.4404 (AISI316L) G3/8 1
025 |Plug EN 1.4404 (AISI316L) G3/8 1
026 |"O"ring FPM [4] 253.36x5.34 OR 6995 1
65-250 1
032 |Key g0-200 4724 MM EN 1.4401 (AIS| 316) 8x7x30 UNI6604 | 1
80-250| d=29 mm 8x7x40 1
033 |Key C 40 10x8x60 UNI 6604 1
65-250 1
034 |impeller nut  80-200 d=24 mm EN 1.4404 (AISI 316L) M20x1.5 UNI 7474 1
80-250| d=29 mm M24x2 1
042 |Pump support Zincate steel 1
042A |Base Zincate steel 1
044 |Protection Zincate steel 1
050 |Foot Aluminium 0
050A |Spacer Aluminium [1]
050B |Spacer Aluminium 2]
050C |Spacer for protection Aluminium [3]
066 |Impeller side bearing cover Cast iron EN-GJL-200-EN 1561 1
067 |Motor side bearing cover Cast iron EN-GJL-200-EN 1561 1
075 |Washer (plug) 1
076 |Washer (plug) EN 1.4404 (AISI 316L) 1
077 |O-ring (plug) 1
078 |O-ring (plug) FPM 141 1
089 |Snap ring Carbon tool steels TC 80 3 50 UNI 7435 1
092 V" ring - VS-0040 L
093 |"V"ring 1
200 |Screw Stainless steel A2 70 class ISO 3506/1 M 12x45 UNI 5739 10
235 |Washer EN 1.4301 (AISI 304) 13 UNI 8842 10
244 |Pin [3] EN 1.4301 (AISI 304) 4x12 UNI 6873 1
Counterflange kit on request, see table p. 329-330
[1] Quantity =0 for 65-250, 80-200/226 and 80-250/556
Quantity =2 for 80-200/306, 80-200/376 and 80-250/456
[2] Quantity =0 for 65-250, 80-200/226 and 80-250/556
Quantity =2 for 80-200/306, 80-200/376 and 80-250/456
[3] Not for H, HW, HSW, E version.
[4] EPDM for E version
[5] Special version: see page 321 and following
For drawing see p.315-316
318

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION 60Hz
Rev. G
BEARINGS 3(.)M
Ball Bearing
Pump type - *) - ™
Pump side Pump side Fan side Fan side
3(.)M 32-125/2.26 . )
3(.)M 32-160/3.06 6205-2RSH 6205-22 C3 6205-2RSH 6205-ZZ C3
3(.)M 32-160/4.06 6206-2RSH 6206-ZZ C3
3(.)M 32-200/5.56 B ) ) :
3()M_ 32-200/7.56 6306-2RS1 6306-ZZ C3 6206-2RS1 6206-ZZ C3
3(.)M 40-125/3.06 6205-2RSH 6205-ZZ C3 } :
3(.)M 40-125/4.06 6206-2RS1 6206-ZZ C3 6205-2RSH 6205-22 C3
3(.)M 40-160/5.56 } ) ) .
3()M _40-160/7.56 6306-2RS1 6306-ZZ C3 6206-2RS1 6206-ZZ C3
3(.)M 40-200/116 6308-2Z 6308-ZZ C3 6208-2Z 6208-ZZ C3
3(.)M 40-200/156 6309-2Z 6309-ZZ C3 6309-2Z 6309-ZZ C3
3(.)M 50-125/5.56 ) ) ) :
3(OM _50-125/7.56 6306-2RS1 6306-ZZ C3 6206-2RS1 6206-ZZ C3
3(.)M 50-160/116 6308-Z2Z 6308-ZZ C3 6208-2Z 6208-ZZ C3
3(.)M 50-160/156 6309-2Z 6309-ZZ C3 6309-2Z 6309-ZZ C3
3(.)M 65-125/5.56 B ) ) :
3()M 65-125/7.56 6306-2RS1 6306-ZZ C3 6206-2RS1 6206-ZZ C3
3(.)M 65-160/9.26 ) ) ) )
3(OM 65-160/116 6308-22 6308-ZZ C3 6208-2Z 6208-ZZ C3
3(.)M 65-160/156
3(.)M 65-200/156 _ ) ) .
3()M_65-200/18.56 6309-2Z 6309-ZZ C3 6309-2Z 6309-ZZ C3
3(.)M 65-200/226
3LM 80-160/18.5
3LM_ 80-160/226 6309-27 6309-ZZ C3 6309-2Z 6309-ZZ C3
(*) Only for IE3 Motors
319

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION 60Hz
Rev. G
BEARINGS 3(.)S-3(.)P
Ball bearing Ball bearing
Pump type . . Pump type Pump Motor
Pump side Fan side Pump side Motor side Pump side Fanside
3(.)S 32-125/2.26 6205-2Z C3 | 6205-2Z C3 3(.)P 32-125/2.26 6205-2Z C3 6205-2Z C3
3(.)S 32-160/3.06 6206-2Z C3 | 6206-2Z C3 3(.)P 32-160/3.06 6306-2RS$1 6206-2RS1 6206-2Z C3 62062Z C3
3(.)S 32-160/4.06 6306-2Z C3 | 6306-2Z C3 3(.)P 32-160/4.06 6306-2Z C3 6306-2Z C3
3(.)S 32-200/5.56 6208-2Z C3 | 6208-2Z C3 3()P 32:200/5.56 6208-2ZC3 | 6208-2ZC3
3(.)S 32-200/7.56 3(.)P 32-200/7 56
3(.)S 40-125/3.06 6206-2Z C3 | 6206-2Z C3 3(.)P 40-125/3.06 6206-2Z C3 6206-2Z C3
282 :gzgggz 6306-2Z C3 | 6306-2Z C3 22; :gzgggg 6306-2RS1 6206-2RS1 6306-2Z C3 6306-2Z C3
S TP TS 6208-2Z C3 | 6208-2Z C3 TR V=R 6208-2ZC3 | 6208-2ZC3
3(.)S 40-160/7.56 3(.)P 40-160/7 .56
3(.)S 40-200/116 6309-2Z C3 | 6309-2Z C3 3(.JP 40-200/116 6309-2Z C3 6309-2Z C3
3(.)S 40-200/156 3(.)P 40-200/156
3(.)S 50-125/5.56 6208-2Z C3 | 6208-2Z C3 S()P 50-125/5.56 6208-2ZC3 | 6208-2ZC3
3(.)S 50-125/7.56 3(.)P 50-125/7 .56
3()S 50-160/116 6309-2Z C3 | 6309-2Z C3 3(.)P 50-160/116 6308-2RS1 6306-2RS1 6309-2Z C3 6309-2Z C3
3(.)S 50-160/156 3(.)P 50-160/156
3(.)S 65-125/5.56 3(.)P 65-125/5.56
3(.)S 65-125/7.56 6208-2Z C3 | 6208-2Z C3 3(.)P 65-125/7 .56 6208-2Z C3 6208-2Z C3
3(.)S 65-160/9.26 3(.)P 65-160/9.26
3(.)S 65-160/116 3(.)P 65-160/116
3()S 65160156 | 630997 c3 | 630022 c3|  [2(IP 65-160/156 63082RS1 | 6306-2RS1 | 6300-22C3 | 6309-2ZC3
3(.)S 65-200/156 3(.)P 65-200/156
3(.)S 65-200/18.56 3(.)P 65-200/18.56
3(.)S 65-200/226 6311 C3 6311 C3 3(.)P 65-200/226 6311 C3 6311 C3
3LS 65-250/306 3LP 65-250/306
6312 C3 6312 C3 - -
3LS 65-250/376 3P 65250376 6310-2RS1 6308-2RS1 6312 C3 6312 C3
3LS 80-160/18.56 6309-2Z C3 | 6309-2Z C3 3LP 80-160/18.56 6309-2Z C3 6309-2Z C3
3LS 80-160/226 3LP 80-160/226
6311 C3 6311 C3
3LS 80-200/226 3LP 80-200/226 6311 C3 6311 c3
3LS 80-200/306 3LP 80-200/306
6312 C3 6312 C3 6312 C3 6312 C3
3LS 80-200/376 3LP 80-200/376 6310-2RS1 C3| 6308-2RS1 C3
3LS 80-250/456 6313 C3 6313 C3 3LP 80-250/456 6313 C3 6313 C3
3LS 80-250/556 6314 C3 6314 C3 |1) | 3LP 80-250/556 6314 C3 6314 C3
1) Motor available with lubrificator for regular re-greasing of bearing.

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 60Hz

Rev. G

MECHANICAL SEAL (standard, H and E version)

L

#d3
#d1
@¢d2
|
.
| e
! M ]
N
|
pd4
#d5

Dimensions Material
1 2 3 4

dl | d2 | d3 |d4 | d5 | L | L1 | L2 | Stationary| Rotary Frame
. . Rubber .
sealring | sealring + spring

Version Pump type

32-125/160/200
40-125/160/200
50-125/160
65-125 22 | 19| 38 | 31 | 37 |37.5|275] 10
Standard | 65-160/7.56 Carbon | Ceramic NBR
65-160/9.26
65-160/116
65-160/156
65-200
32-125/160/200
40-125/160/200
50-125/160
65-125 22 | 19| 38 | 31 | 37 [37.5/275| 10
65-160/7.56
65-160/9.26 . EN 1.4401
H 65-160/116 Carbon Ceramic FPM (AISI 316)
65-160/156
65-200
65-250
80-160/200
80-250 35| 29| 50 | 44 | 50 |42.5/325]| 10
32-125/160/200
40-125/160/200
50-125/160
65-125 22| 19| 38| 31 | 37 |37.5|275| 10
65-160/7.56
65-160/9.26 . EN 1.4401
E 65-160/116 Carbon SiC EPDM 1 aisi 316)
65-160/156
65-200
65-250
80-160/200
80-250 35| 29| 50 | 44 | 50 [42.5/325]| 10

EN 1.4401
(AISI 316)

30 | 24 | 46 | 39 | 45 |425/325| 10

30| 24 | 46 | 39 | 45 |425/325] 10

30 | 24 | 46 | 39 | 45 |425|325| 10

321

% E2ARA EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS

3

SERIES

CONSTRUCTION 60Hz
Rev. G
MECHANICAL SEAL (L version 922)
4 3 2
oo N%
C
N ™~
~N 1 N
= S
) .
ST
U .
37.5
Material
Pump type ! 2 3 4
Stationary | Rotary Rubber Frame
seal ring | sealring + spring
32-125/160/200
40-125/160/200
50-125/160
65-125 SiC SiC FPM (i{\lSI1341567T1i)
65-160/7.56
65-160/9.26
65-160/116
322

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 60Hz

Rev. G

MECHANICAL SEAL (L version 230-35)

L1 L L2
2 Eﬁwp
R Q NZN J ‘
: - | Z’L 3 2/ w/ l | a
g sl PR
| |
1 |
o O o NZ =
- 2, J

Dimensions Material

Pump type ! 2 3 4

PYPE 1 41 | 92 | d3 | d4 | d5 | L | L1 | L2 | Stationary| Rotary Rubber  Frame

seal ring | seal ring + spring
65-160/156
65-200
65-250 30 | 24 | 44 | 39 | 45 |425 31 |[11.5 SiC sic EPM (i:\él1:.341567_r1i)
80-160/200
80-250 35 | 29 | 49 | 44 | 50 425 31 |[11.5
323

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION 60Hz
Rev. G
MECHANICAL SEAL (HS version 22)
A
e
A
N ™~
N - - N
ASS =
!
LIRS
. 28.5 9
- 37.5 o
Material
1 2 3 4
Pump type Stationary| Rotary Frame
. . Rubber .
seal ring | seal ring + spring
32-125/160/200
40-125/160/200
50-125/160
65125 siC sic FPM i:\lSI1;’34156?I'1'
65-160/7.56 ( )
65-160/9.26
65-160/116
324

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3

SERIES

CONSTRUCTION 60Hz
Rev. G
MECHANICAL SEAL (HS version 230)
L1 L2
] o]
T T
- % 4 3 2 1 3 4 -
] |
TR
Dimensions Material
. 1 2 3 4
Version | PUMptyPe | g | o | a3 | a4 | a5 | L | L1 | L2 Stationary | Rotary Frame
seal ring | seal ring Rubber + spring
HS 22;38/15 30 | 24 | 44 | 39 | 45 (425 31 |115 SiC SiC FPM (i:\lSI1541%7‘I'1i)
325

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION 60Hz
Rev. G
MECHANICAL SEAL (HW and HSW version)
L
L1 L2
; Q N, |
- |
~M | |
o
3 | |
- 43 2 1 3 | o
g o N
s ‘ | S
i %@%\% ‘
Dimensions Material
Version Pump type 1 2 3 4
d1 | d2 | d3 | d4 | d5 L L1 | L2 | Stationary Rotary Frame
. . Rubber .
seal ring seal ring + spring
32-125/160/200
40-125/160/200
50-125/160
65-125 22 |19 | 38 | 31 | 37 |37.5|275]| 10
65-160/7.56
65-160/9.26 EN 1.4401
HW 65-160/116 Carbon Carbon FPM (AISI 316)
65-160/156
65-200
65-250 30 | 24 | 46 | 39 | 45 |42.5|32.5| 10
80-160/200
80-250 35 129 | 50 | 44 | 50 |42.5|32.5] 10
32-125/160/200
40-125/160/200
50-125/160
65-125 22 | 19 | 38 | 31 | 37 |37.5|27.5| 10
65-160/7.56
65-160/9.26 . EN 1.4401
HSW | 65-160/116 Carbon Sic FPM | (aIsi 316)
65-160/156
65-200
65-250 30 | 24 | 46 | 39 | 45 |42.5|32.5| 10
80-160/200
80-250 35 129 | 50 | 44 | 50 |42.5|32.5] 10

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION 60Hz
Rev. G
COUPLING 3(.)S
L
Set screw UNI EN ISO 4029 \
o © } I [ m m
| L1
< = wej*« e S
Pump type Power Motor Dimensions mm
kwj | HP] | Size | d | d1 | d2 | d3 M L[] b h | Setscrew
32-125/2.26 2.2 3 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
32-160/3.06 3 4 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
32-160/4.06 4 55 112 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
32-200/5.56 55 7.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
32-200/7.56 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
40-125/3.06 3 4 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
40-125/4.06 4 55 112 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
40-160/5.56 55 7.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
40-160/7.56 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
40-200/116 1 15 160 19 22 42 63 M16x1.5 178 | 114 12 45.3 M8x8
40-200/156 15 20 160 19 22 42 63 M16x1.5 178 | 114 12 45.3 M8x8
50-125/5.56 55 7.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
50-125/7.56 75 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
50-160/116 11 15 160 19 22 42 63 M16x1.5 178 | 114 12 45.3 M8x8
50-160/156 15 20 160 19 22 42 63 M16x1.5 178 | 114 12 45.3 M8x8
65-125/5.56 55 75 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
65-125/7.56 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
65-160/9.26 9.2 12.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
65-160/116 (i 15 160 19 22 42 63 M16x1.5 178 | 114 12 45.3 M8x8
65-160/156 15 20 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
65-200/156 15 20 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
65-200/18.56 18.5 25 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
65-200/226 22 30 180 24 30 48 72 M20x1.5 184 | 114 14 51.8 M10x10
65-250/306 30 40 200 24 30 55 85 M20x1.5 184 | 114 16 59.3 M12x12
65-250/376 37 50 200 24 30 55 85 M20x1.5 184 | 114 16 59.3 M12x12
80-160/18.56 18.5 25 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
80-160/226 22 30 180 24 30 48 72 M20x1.5 184 | 114 14 51.8 M10x10
80-200/226 22 30 180 24 30 48 72 M20x1.5 184 | 114 14 51.8 M10x10
80-200/306 30 40 200 24 30 55 85 M20x1.5 184 | 114 16 59.3 M12x12
80-200/376 37 50 200 24 30 55 85 M20x1.5 184 | 114 16 59.3 M12x12
80-250/456 45 60 225 29 35 55 85 M24x2 206 | 114 16 59.3 M12x12
80-250/556 55 75 250 29 35 60 89 M24x2 218 | 144 18 64.4 M12x12
327

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 60Hz

Rev. G

FLEXIBLE COUPLING 3(.)P

3 4
| |
\
| | | A %
PUMP SIDE PUMP SIDE MOTOR SIDE MOTOR SIDE
Pump type Power Motor Dimensions mm

[KW] | [HP] | Size d1 b1 h1 d2 b2 h2
32-125/2.26 2.2 3 90 24 8 27.3 24 8 27.3
32-160/3.06 3 4 100 24 8 27.3 28 8 31.3
32-160/4.06 4 5.5 112 24 8 27.3 28 8 31.3
32-200/5.56 5.5 7.5 132 24 8 27.3 38 10 41.3
32-200/7.56 7.5 10 132 24 8 27.3 38 10 41.3
40-125/3.06 3 4 100 24 8 27.3 28 8 31.3
40-125/4.06 4 5.5 112 24 8 27.3 28 8 31.3
40-160/5.56 5.5 7.5 132 24 8 27.3 38 10 41.3
40-160/7.56 7.5 10 132 24 8 27.3 38 10 41.3
40-200/116 11 15 160 24 8 27.3 42 12 45.3
40-200/156 15 20 160 24 8 27.3 42 12 45.3
50-125/5.56 5.5 7.5 132 24 8 27.3 38 10 41.3
50-125/7.56 7.5 10 132 24 8 27.3 38 10 41.3
50-160/116 11 15 160 24 8 27.3 42 12 45.3
50-160/156 15 20 160 24 8 27.3 42 12 45.3
65-125/5.56 5.5 7.5 132 24 8 27.3 38 10 41.3
65-125/7.56 7.5 10 132 24 8 27.3 38 10 41.3
65-160/9.26 9.2 12.5 132 24 8 27.3 38 10 41.3
65-160/116 11 15 160 24 8 27.3 42 12 45.3
65-160/156 15 20 160 24 8 27.3 42 12 45.3
65-200/156 15 20 160 24 8 27.3 42 12 45.3
65-200/18.56 18.5 25 160 24 8 27.3 42 12 45.3
65-200/226 22 30 180 24 8 27.3 48 14 51.8
65-250/306 30 40 200 32 10 35.3 55 16 59.3
65-250/376 37 50 200 32 10 35.3 55 16 59.3
80-160/18.56 18.5 25 160 24 8 27.3 42 12 45.3
80-160/226 22 30 180 24 8 27.3 48 14 51.8
80-200/226 22 30 180 32 10 35.3 48 14 51.8
80-200/306 30 40 200 32 10 35.3 55 16 59.3
80-200/376 37 50 200 32 10 35.3 55 16 59.3
80-250/456 45 60 225 32 10 35.3 55 16 59.3
80-250/556 55 75 250 32 10 35.3 60 18 64.4

328

% E2ARA EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION 60Hz
Rev. G
FITTINGS
COUNTERFLANGE ZINCKED STEEL
F
‘ E
| — |
e
ooy [ | )
] ow
L
SN N°* Holes 218
Counterflange Screw
DN D E F H H1 L M SN DIMENSIONS MATERIAL
32 | G11/4 100 100 15 11.5 67 50 4
40 | G11/2 110 110 17.5 11.5 72 58 4 M16x55
50 | G2 | 125 | 125 | 19 15 | 89 | 70 4 X Zn. Steel 8.8
strenght class
65 | G21/2 | 145 | 185 | 23 14 | 104 | 88 4 1SO 898-1
80 G3 160 200 24 16 117.5 | 100 8 M16x60
100 G4 180 220 29 16 144 125 8
COUNTERFLANGE EN 1.4404 (AISI 316L)
E
D
SN N' Holes 018 ‘ |
T
f L)
| L
F
Counterflange Screw
DN D E F H H1 L M SN DIMENSIONS MATERIAL
32 | G11/4 100 140 29.5 14 66 44
40 | G11/2 110 150 29.5 14 7 50.5 4 M16x55 A2.70 0l
X -70 class
50 G2 125 165 34 16 83 63 1SO 3506-1
65 | G21/2 145 185 40 16 103 80
80 G3 160 200 42 18 122 92 8 M16x60
329

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION

COUNTERFLANGE EN 1.4404 (AISI 316L) DN100

‘ E
. D
SN_N° Holes ¢18 ‘
|
—\ - |
T | S |
L | ‘
T
o L |
F
Counterflange Screw
DN | D E F H H1 L | sN [ DIMENSIONS | MATERIAL
100 | G4 | 180 | 220 | 35 | 20 | 150 | 8 M16x70 A2-70 class
1SO 3506-1
GASKET
DN M M1
32 38 82
40 50 93
50 60 107
65 80 125
80 9% 140
100 115 160

Thickness 7

Material : EPDM for standard version

FPM for L version

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS 3 SERIES

DIMENSIONS AND WEIGHT 60Hz

Rev. G
PUMP 3(.)M 32, 40-125/160/200, 50-125/160, 65-125/160
7= | N
M pu
pu \gz
K A
AN \ T
| J
L\ -
D=\
LN
T ‘ T
Hr
St M olx N2
0=
N
Fig. 2
25
Dimensions (mm) Weight
Pump type [} %] [} [} z [%] a a %] H3 B [ V2 [kgf]
DN1| P1 | K1 | D1 |S1{[1]][2]|DN2| P2 | K2 | D2 | S2|Fig.| H | H1 | H2 D IRIW| M [N [N]| A *) *) V1 *) *)
32-125/2.26 | 50 | 95 | 125|165|16| 4 | - | 32 | 75 | 100|140 14| 1 | 252|112 | 140 | 124 | 119 | 80 | 70 | 114 | 140 | 190 | 213 | 432 | 431 |244+255 232 - PG 13.5| M20x1.5] 23 24
32-160/3.06 | 50 | 95 | 125 | 165 | 16| 4 - 32 | 75 [100| 140| 14| 1 | 292|132 | 160 124 119 | 80 | 70 | 118 | 190 | 240 | 254 471 471 |244+255| 244+255 - PG 13.5| M20x1.5| 26.2 26.2
32-160/4.06 | 50 | 95 | 125|165|16]| 4 | - | 32 | 75 [ 100|140| 14| 1 | 292|132 | 160 | 141 141 | 80 | 70 | 118 | 190 | 240 | 254 | 494 | 494 253 253 - PG 16 | M20x1.5]| 345 | 345
32-200/5.56 | 50 | 95 | 125 | 165 | 16| 4 - 32 | 75 [100| 140| 14| 1 | 340|160 | 180 150 150 | 80 | 70 | 119 | 190 | 240 | 296 519 519 275 275 PG135 | PG 16 | M25x1.5| 48.5 48.5
32-200/7.56 | 50 | 95 | 125|165|16]| 4 | - | 32 | 75 [100|140| 14| 1 | 340|160 | 180 - 150 | 80 | 70 | 119 | 190 | 240 | 296 - 539 - 275 - - PG16 - 54.2
40-125/3.06 | 65 | 115|145 | 185 | 16| 4 - 40 | 80 | 110|150 14| 1 |252| 112| 140 124 119 | 80 | 70 | 114 | 160 | 210 | 213 471 471 |244+255| 244+255 - PG 13.5 | M20x1.5 23 23
40-125/4.06 | 65 | 115|145|185|16| 4 | - | 40 | 80 | 110|150 | 14 | 1 | 252 | 112| 140 | 141 141 | 80 | 70 | 114 | 160 | 210 | 213 | 494 | 494 253 253 - PG 16 | M20x1.5| 36.6 36.6
40-160/5.56 | 65 | 115 | 145|185 | 16| 4 - 40 | 80 | 110|150 14| 1 [292]|132| 160 150 150 | 80 | 70 | 118 | 190 | 240 | 254 519 519 275 275 PG135 | PG16 | M25x1.5| 423 423
40-160/7.56 | 65 | 115|145|185|16| 4 | - | 40 | 80 | 110|150 | 14 | 1 |292|132| 160 - 150 | 80 | 70 | 118 | 190 | 240 | 254 - 539 - 275 - - PG 16 - 56.4
40-200/116 65 | 115|145|185(16| 4 | - | 40 | 80 | 110|150 | 14| 2 | 340 160 | 180 - 178 [ 100| 70 | 115 | 212 | 265 | 296 - 595 - 359 - - PG 21 - 66.8
50-125/5.56 | 65 | 115|145|185|16]| 4 | - | 50 | 95 [125|165| 16| 2 | 292|132 | 160 | 150 | 150 | 100| 70 | 114 | 190 | 240 | 254 | 539 | 539 275 275 PG135 | PG16 | M25x1.5| 43.9 | 439
50-125/7.56 | 65 | 115[145|185|16| 4 | - | 50 | 95 [ 125|165| 16 | 2 | 292 | 132| 160 - 150 [100| 70 | 114 | 190 | 240 | 254 - 559 - 275 - - PG 16 - 56.7
50-160/116 65 | 115|145/ 185|16| 4 - 50 | 95 [ 125]165| 16 | 2 | 340|160 | 180 - 178 [ 100| 70 | 115 | 212 | 265 | 296 - 595 - 359 - - PG 21 - 67.8
65-125/5.56 | 80 | 134|160 |200|18| 8 | 4 | 65 | 115/ 145|185]| 16| 2 | 340|160 | 180 | 150 | 150 | 100| 95 | 140 | 212 | 280 | 254 | 539 | 539 275 275 PG135 | PG16 | M25x1.5| 52 52
65-125/7.56 | 80 | 134|160 |200|18| 8 | 4 | 65 | 115[145|185| 16| 2 | 340|160 | 180 - 150 [100| 95 | 140 | 212 | 280 | 254 - 559 - 275 - - PG 16 - 59.2
65-160/9.26 | 80 | 134|160 |200|18| 8 | 4 | 65 | 115[145|185| 16| 2 | 360 | 160 | 200 - 178 | 100| 95 | 140 | 212 | 280 | 296 - 595 - 359 - - PG 21 - 55.9
65-160/116 80 | 1341160200 /18] 8 | 4 | 65 | 115|145|185| 16| 2 | 360 160 | 200 - 178 | 100] 95 | 140 | 212 | 280 | 296 - 595 - 359 - - PG 21 - 69.8

[1] Standard [2] On request  (*) Only for IE3 motors

400

E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

DIMENSIONS AND WEIGHT 60Hz

Rev. G
PUMP 3(.)M 40-200, 50-160, 65-160/200
B
D2
P2
DN2 PG21 296
o
A @ | o
oo :
= - = =1 72 I — f +
e =) —C 1 YT ] J
= %\ﬁ/ -
— — \{ﬁ\ T
[ o
: sl el afl | [ ﬁ/ﬁ\%g
Hy : :
100 L 499.5 20 JJ 4-915
25 w L4 N1
M N2
3 /O
2-915
—
M) U = -
L ]
| . &
| Fig.2 || |||
i I H——
C 254 25
- M -
e -
! L4 I o o
U I
L] LI
Dimensions [mm] Weidh
Pumptype | @ |2 | 2 | @ z o |o|lo|o [E;’f]t
DN1 [P1|K1|D1|[S1| M| 21|DN2| P2 |K2|D2|S2|Fig.| H|HI|[H2|W|M|N|[N|B| C |L1|L2|L3]|L4a

40-200/156 65 [115[145(185| 16
50-160/156 65 [115[145(185| 16
65-160/156 80 [134|160f200| 18
65-200/156 80 [134|160f200| 18
65-200/18.56 | 80 |134]160|200( 18
65-200/226 80 [134|160f200| 18

40 | 80 [110|150| 14
50 | 95 [125(165]| 16
65 |115]145|185| 16
65 |115]145|185| 16
65 |115]145|185| 16
65 |115]145|185| 16

340(160] 180| 70 | 115|212] 265|723 | 190,5| 254 | 318| 64 | 304| 106.1
340( 160|180 | 70 [115|212| 265|723 | 190,5]| 254|318 | 64 | 304| 82.6
95 1140(212|280|732| 199.5( 254 | 318| 64 | 304| 106.1
405|180| 225| 95 | 140|250 320 732| - |254|314| 60 | 345( 109.1
405|180| 225| 95 | 140|250 320| 732| - |254|314| 60 | 345| 126.3
405|180| 225| 95 | 140|250 320 732| - |254|314| 60 | 345( 134.1

||| sl

alal o™
w
D
o
=
D
o
N
o
S

IN PN NN (N I

[1] Standard [2] On request

401

% E2ARA EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS 3 SERIES

DIMENSIONS AND WEIGHT 60Hz

Rev. G

PUMP 3LM 80-160

8 200
8135 147 173
8918 2-63/8
N
o~
M [Tel
& & PN
2 8 8 | 8 ] S
s| s B he [ 2180
= o — Q
o 2
24
S 4-et5| || 65
250
125 499.5 | |20 320
757
345
3 <+ A B
2-915 <« <
- NP
Pumps weight: 80-160/18.56: 145.3 kgf
80-160/226: 158.1 kgf

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

DIMENSIONS AND WEIGHT 60Hz

Rev. G

PUMP 3(.)S 32-125/2.26

477
¢ 140
$ 75 9 213
832 M25x1.5 M20x1.5 4 — ¢18

14

252

P

¢ 165

m‘ ==
[

[
|
|
|
|
\
|
|

112

‘
70 1 4 - 915 | |||
|

80 186 \ 2 — #0 190
\

1
140
168

Pump weight: 31.4 kgf

403

% E2ARA EBARA PUMPS EUROPE S.p.A.




3 SERIES

CENTRIFUGAL PUMPS

60Hz

DIMENSIONS AND WEIGHT

Rev. G

PUMP 3(.)S 32, 65-125/160/200

ysenbau uo [z] piepuess [1]
=743 GIXZEW|GIXCEN| - - - - - - - |988|09¢|02€E| 0G| - - |00L| - [89z|Scz|08L|SOy| € | 9L |S8L|S¥L|SLL| G9 | ¥ | 8 | 8L |00C|09L|¥EL| 08 922/002-59
2'LEL |STIXOPN|STLXOPIN| 09 |VLE| PG| L | 0SE| 0T | 129|098|0S€| 0CE|0SZ|OvL| G6 |00L| OC |8€C|S2Z|08L|SOY| € | 9L |S8L|SPL|GLL| S9 | ¥ | 8| 8L |00C|09L|¥EL| 08 | 95°8L/002-G9
8€l GLXOPN| ST LXOVIN| 09 YLE|¥SZ| ¥L |0GE| OZ | 129|908| 0SE|0ZE|0GZ|0VL| S6 |00L| OZ |8€Z|S2Z|08L|SOF| 2 | 9L |S8L|G¥L|SLL| S9 | ¥ | 8| 8L |00Z|09L|¥EL| 08 951/002-59
88 GLXCEN| S LXZEW| 0S [992|9LZ| ¢) |042| Sb |6.F|/99|00€|08Z|ZLe|0OVL| S6 |00L| 8Z |86L|00Z|09L|09€| 2 | 9L |G8L|G¥L|SLL| G9 | ¥ | 8| 8L |00Z|09L|¥EL| 08 | 92°6/09L-S9
6L |SIXCEN|S LXZEN| 0S [992|9LC| C)L |0L2| SL |6.1|1Z9|00€|08Z|ZLZ|0OFL| G6 |00L| 8Z (86L|08L|09L|OVE| € | 9L |S8L|GYL|SLL| G9 | ¥ | 8 | 8L |00Z|09L|¥EL| 08 | 9G°2/STL-G9
09 GIXCEW| S IXZEW| 0S [992|9LZ| C) |042| SL |6L%|/29|00€|08Z|ZLe|OFL| S6 |00L| 82 |86L|08L|09L|OVE| C | 9L |G8L|GVL|SLL| G9 | ¥ | 8| 8L |00Z|09L|¥EL| 08 | 95°G/SCL-S9
18 GLXCEN|STIXZEN| 05 [992|9LZ| T} |042| Gl |6L%|L09|00€| O¥C|06L|6LL| OL | 08 | 8Z |86L|08L|09L|0OVE| L | ¥L |OFL|OOL| GL| C€ | - | ¥ | 9L |G9L|GCL| G6 | 0G| 9S°L/00Z-2€
8'LL |STIXZEN|GLXCEN| 0G |992|9LZ| 2L |0LZ| S |6LY|L09|00E|0VC|06L|6LL| OL | 08 | 8C |86L|08L|[09L|O¥E| L | ¥ [OVL|OOL| GL| C€ | - | ¥ | 9L |S9L|SZL| S6 | 0G| 95'S/002-CE
(4 G'LXOCN|S'LXGZIN| 0S [0vZ|06L| ¢L |02Z| SL |S6€|0SS|¥ST|0FZ|06L|8LL| 0L | 08 | OZ | LZL|09L|ZEL|26Z| L | ¥L |OFL|OOL| GL| 2€ | - | ¥ | 9L |S9L|SCL| G6 | 0S| 90°+/09L-C€
'8¢ |STIX0CIN| G LXGZN| OF | 00Z|09L| 2L |02Z| Sl |88€|82S|¥SZ| 0¥ |06L|8LL| OL | 08 | 2€ |SSL|09L|2EL|262| L | ¥ [OVL|O0L| GL| C€ | - | ¥ | 9L |G9L|GCL| S6 | 0G| 90°€/09L-CE
. zs|zal o | ed|eNallel[] ts|iaf ] 1d [iNG|
9 b
_W_M: A A | €121 11| D |9 4|08 |V |[ZN|IN|N|M|¥Y|vH|EH|ZH|IH|H B 2l ololel| z 2| & 0| | sddung
il [ww] suoisuswig
[oN] M L |
& e 00¢ 7
vie—v
~ w“\
-0 & & o
g6 14
[R74 7 RZ4 373
I
=11 i
. | ¢ by
~
= |- )
N 9 7
, N ] 7 _m W i
, I M N
g ] 7 ) | 3 7 Wz
| i i ! ! m L | L
f M . . T T T
M T
ING ﬁ% : W | | By
=N T a7
N N = & [
—3§ S — |
\ — 1 _ z b4
1 | - -— | o o o
- gy e — | z =P
\ iwip
T {1l
S g g
i - ||
8152 1© Ol \ 4
7 7 8
7 A CNd
v Zd
2a ,
g

404

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

DIMENSIONS AND WEIGHT 60Hz

Rev. G

PUMP 3(.)S 40, 50, 65-160

B
D2
A
f l 7-918
M
I o~
x ==
= \
P=Y T J — T
NS -
\ =
7-918 i\@
| Oy = i g
4-919 N3
N1
25 N2
Dimensions [mm]
Weight
P t z
umptype | @ |\ @1 @ | O A AR H|HI|H2|H3| R| W |[NT|[N2|[N3| A| B | E| F \%! V2 [kgf]

DN1 | P1| K1 | D1 | 81
40-125/3.06 65 | 115| 145|185 16
40-125/4.06 65 | 115| 145|185 16
40-160/5.56 65 | 115| 145|185 16
40-160/7.56 65 | 115| 145|185 16
40-200/116 65 | 115| 145|185 16
40-200/156 65 | 115| 145|185 16
50-125/5.56 65 | 115| 145|185 16
50-125/7.56 65 | 115| 145|185 16
50-160/116 65 | 115| 145|185 16
50-160/156 65 | 115| 145|185 16
65-160/116 80 | 134 | 160|200 18
65-160/156 80 | 134|160 |200| 18

=

[21| DN2 | P2 | K2 | D2 | S2
- 40 | 80 | 110|150 | 14 | 294 | 112|140 | 155| 80 | 90 | 180|240 | 60 | 250 | 528 | 500 | 563 | M25x1.5 | M20x1.5| 34.5
- 40 | 80 | 110|150 | 14 | 294 | 112 140|171 | 80 | 90 | 180|240 | 60 | 250 | 550 | 500 | 585 | M25x1.5 | M20x1.5| 44.6
- 40 | 80 | 110|150 | 14 | 334 | 132|160 | 198 | 80 | 110 | 210|270 | 60 | 300 | 607 | 600 | 662 | M32x1.5 | M32x1.5| 71.2
- 40 | 80 | 110|150 | 14 | 334 | 132|160 | 198 | 80 | 110 | 210|270| 60 | 300 | 607 | 600 | 662 | M32x1.5 | M32x1.5| 81

- 40 | 80 | 110|150 | 14 | 382 | 160 | 180 | 238 | 100 | 110 240|310 | 70 | 350 | 796 | 720 | 831 | M40x1.5| M40x1.5| 117.8
40 | 80 | 110|150 | 14 | 382|160 | 180 | 238 | 100 | 110 |240|310| 70 | 350 | 796 | 720 | 831 | M40x1.5| M40x1.5| 147.9
- 50 | 95| 125|165| 16 | 334 | 132 | 160 | 198 | 100 | 110 | 210| 270 | 60 | 300 | 627 | 600 | 662 | M32x1.5| M32x1.5| 62.8
- 50 | 95| 125|165| 16 | 334 | 132 | 160 | 198 | 100 | 110 | 210| 270 | 60 | 300 | 627 | 600 | 662 | M32x1.5| M32x1.5| 90

- 50 | 95| 125|165| 16 | 382 | 160 | 180 | 238 | 100 | 110 | 240|310 | 70 | 350 | 796 | 720 | 831 | M40x1.5| M40x1.5| 85.8
50 | 95| 125|165| 16 | 382 | 160 | 180| 238| 100 | 110 | 240|310 | 70 | 350 | 796 | 720 | 831 | M40x1.5 | M40x1.5| 119.9
4 | 65 [115|145|185| 16 | 402 | 160 | 200 | 238 | 100 | 122.5| 240 | 310 | 70 | 350 | 796 | 720 | 844 | M40x1.5 | M40x1.5| 86.8
4 | 65 |115|145|185| 16 | 402| 160 | 200 | 238 | 100 | 122.5| 240 | 310 | 70 | 350 | 806 | 720 | 854 | M40x1.5 | M40x1.5| 120.9

(o=l I I RN BN I
'

[1] Standard [2] On request

405

E2ARA EBARA PUMPS EUROPE S.p.A.



3 SERIES

CENTRIFUGAL PUMPS

60Hz

DIMENSIONS AND WEIGHT

Rev. G

PUMP 3LS 80-160/18.56

GO¥

Gee

175
2-G3/8

175

8-418

M40x1.5

8¢¢C

250

320

LIE | @

M40x1.5

1CI0

|-

L[

|-

¢ 200

$ 135

DN8Q

[44

621

125

.20

875

350

l-C

Pump weight: 151.2 kgf

406

EBARA PUMPS EUROPE S.p.A.

_—J=-TETY



3 SERIES

CENTRIFUGAL PUMPS

60Hz

DIMENSIONS AND WEIGHT

Rev. G

160/200

PUMP 3LS 65-250, 80-

10z | SVXTEW | GUXZEW | ¥L | GL | 09€|SvZ| 62€ | 016 | 28L | GLL| 00| S | 8vE|6L2| L¥2| G9 | G2l |SPE| 08| S6 | S2L| L2 | €1 | 892 | 0GZ | 08L|0Ey| 22 |00z |Gel| 2 B4 08 | v2 |Sez|08L|SSk| 004 | 92z/00Z-08 7
10z | SVXTEW | SUXZEW | ¥L | SL | 09€|S¥Z| 62€ | 0L6 | SLL|GLL| 00| SL | 8vE|6L2| L¥2| G9 | G2l |02E|0SZ| S6 | S2L| L2 | €1 | 892 | G2z |08L|SOv| 2z |00z|sel| 2 B4 08 | v2 |Sez|08L|SSt| 004 | 92z/091-08 m
0zs | SLXOPIN | SLXOPIN | ZL | 61 |66€|S 12| LPE| 996 | 00Z | 00Z | 8S€| 08 | 88€| 8LE | GOE| 08 | 091 | 09€ | 08Z | 0Z) | 00L| SZ | G | 00€|0SZ|00Z | 0S¥ | 0Z | G8L|0Z)| L B4 G9 | 2z |00Z|09L|SEL| 08 | 928/062-G9
cog |G IXOvN | GUXOVIN | ZL | 6L |66E(S 12| LS| 996|002 | 00Z| 8SE| 08 | 88€| 8LE| SOE| 08 | 091 | 09€ | 08Z| 0ZL | 00L | SZ | GL | 00€| 0SZ|00Z| 0S¥ | 0z |S8L|0zL| L B4 G9| 22 | 00Z|09L|SEL| 08 | 908/052-G9
6] A LA sajea|ofid| o gjeviivisr|ier|er| 1| 1 |N] W|ZN|IN|M| d |SH|VH|EH|CH|IH| H |ZS|ca|cad ¢Nd 1S | 1A | M| Ld | ING
adAy dwng
wbrom [ww] suojsuawig
o=
N
N
IN
LN 7 7 7 ¢de-v
ER
A=Y N e 3
=~ G
I
I
I
N w
8l9-8

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

DIMENSIONS AND WEIGHT

60Hz

Rev. G
# 200
# 135 Vi V2 Al A2
DN8Q / /
o
o~
8—918
24 —
2}
b= o
o~
T
"é’ 8 § I ) ] -
= Y
s| s & 2180
T
<«
=y
4-9¢D3 M1
N1
N2
B
LS
3 & A
4-817
B o
Dimensions [mm] Weight
Pump type
H H1 H2 H3 | H4 | H5| W N1 N2 M M1 L L1 L2 L5 A1 A2 B C F1 G D3 V1 V2 [kgf]
80-200/306 450 | 200 | 250 | 300 | 20 | 25| 95 280 | 360 | 130 80 305 | 318 | 388 | 358 | 200 | 200 991 341 215 | 399 | 14 | M40x1.5 M40x1.5 306
80-200/376 450 | 200 | 250 | 300 | 20 | 25| 95 280 | 360 | 130 80 305 | 318 | 388 | 358 | 200 | 200 991 341 215 | 399 | 14 | M40x1.5 M40x1.5 325
80-250/456 505 | 225 | 280 | 335 | 25| 28 | 120 | 315 | 415 | 165 | 100 | 311 | 356 | 436 | 386 | 225 | 225 | 1060 | 385 | 37.5 | 465 | 18 | M50x1.5 | M50x1.5 401

408

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

DIMENSIONS AND WEIGHT 60Hz
Rev. G
PUMP 3LS 80-250/556
¢ 200 M50x1.5
9135 M50x1.5 275 ‘ 275
- DN80 - 2-G3/8
o] ;
! ) — ) s
W = 8 8-918 | ; -
= = =0
Ll o 1 FHERY )
=l ———
= L] ‘ .
— i P ®
3 4-919 “"
180 315
125 ‘ 850 26 405
1151
500
2-924
- —+ €
Pump weight : 489 kgf
409

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

DIMENSIONS AND WEIGHT 60Hz

Rev. G

PUMP DRAWING 3(.)P 32, 40, 50, 65-125/160/200

CH H

%)#8
.

N3

N1

N2
ﬁ@\
155)>
& : D

& M
DN1

[Te]
i
4
M
—
il
©
bragive)
~ N
3 S =
st hegivel <
g}
=2 %
g3 S
N — <@
11 o
N O ©
Dl 5
5 ‘ 3
e o~
(2]
= T E 5
S o 2
o — c
[}
Q ©
5 7 5
| ('
<+

EBARA PUMPS EUROPE S.p.A.



60Hz
Rev. G

3 SERIES

PUMP TABLE 3(.)P 32, 40, 50, 65-125/160/200

siojow ¢3| 1oy Ajuo (,) ysenbai uQ [z] psepuels [} ]
681 - | SLXCEW | S LXZEN |0SL L0001 |09€|0SY|0LY| 008|001 |289|0SL L| 962|001 |892|522|08L|SSY| 91 |G8L|SYL|SLL| S9 | ¥ | 8|8L|002|09L|vEL| 08 | 922/002-G9
z'gel - | GLXOPIN | STLXOPIN [SLLL|000L| OEE| 02| 08€E|008|00L|2S9|S )L L| 962|001 |8€2|G22|08L|SGY| 9L |S8L|GPL|SGLL| G9 | ¥ | 8|81|00Z|09L|¥EL| 08 [95°81/002-G9
€1 - | SLXOPIN | S LXOPIN | L20L|000L | 0EE|0Z17|08€|008| 001|809 1201 962|001 |8€2|522|08L|SSY| 91 |G8L|SpLISLL| G9 | ¥ | 8|8L]|002|09L|¥EL| 08 | 95L/002-G9
621 - | GLXOPIN | STLXOPIN | L20L|000L| OEE| 02| 08€|008| 001|809 LL0L| 962|001 |8€2|00Z|09)|0LY| 9L |S8L|GPL|SGLL| G9 | ¥ | 8|8L|00Z|09L|¥EL| 08 | 951/091-G9
8'vel - | SLXOPIN | S LXOPIN | L20L|000L | 0EE| 02| 08E| 008|001 |809|LL0L|962|00L|8€2|002|09L|0LY| 9L |G8L|SYL|SLL| G9 | ¥ | 8|81]|002|09L|¥EL| 08 | 9LL/09L-G9
gLl - | GUXCEN | S'LXZEW | 66 | 0S8 | 00€|06€|0SE|059/00L|28Y| S¥6 |962|001|861|00Z/09L|0LY| 9L |S8L|GFLISLL| G9 | ¥ | 8|8L|002Z|09L|¥EL| 08 | 92'6/091-G9
7601 - | GUXZEN | S'LXZEN | S06 | 0S8 |00E| 06€|0SE|059|00L|ZhY| S06 |¥52|001|861|08L|09L|06€| 91 |S8L|GPL|SLL| G9 | ¥ | 8|8L|00Z|09L|¥EL| 08 | 95°2/STL-G9
66 66 | S LXZEW | G'LXZEW | S06 | 0S8 |00E|06€|0SE| 059|001 |2hy| S06 |#52|001|861|081|09L|06€| 9L |S8L|SPL|SLL| §9 | ¥ | 8 |8L|00Z|09L|vEL| 08 [ 95'G/SZL-G9
r'vEL - | SLXOPIN | S'LXOPIN | LZ0L 0001 | OEE| 02| 08E|008|00L 809 L 20L| 962|001 |8€2| 081|091 |06€| 91 |S9L|GZL| 66 | 0S | - | ¥ |94|G8L|SPL|SLL| G9 [ 9S1/091-0S
€121 - | SLXOPIN | S LXOPIN | L20L|000L | 0EE|0Z1|08€| 008|001 |809|L20L| 962|001 8€2|081|091|06€| 91 |S9L|SZL| S6| 0G| - | ¥ |9L|S8L|SPL|SLL| S9 [ 9LL/09L-0S
6901 - | SIXZEN | STLXZEW | G06 | 0S8 |00€|06€|0SE|059|00L |ZhY| G06 |#52|00L|861|09L|2EL|2PE| 91 |S9L|GZ)L| 66 | 05 | - | ¥ |94|G8L|SPL|SLL| G9 [ 95°L/52L-0S
86 86 |G LXZEW | G'LXZEW | S06 | 058 |00E|06€| 0SE| 059|001 |2hY| S06 |#52|00L|861|09L|ZEL|Zve| 9L |S9L|G2L| 66| 0G | - | ¥ |9L|S8L|SYL|GLL| G9 | 95'S/STL-0G
6vel - | GLXOPIN | STLXOPIN | L20L|000L| 0E€E| 02| 08€|008| 001|809 L20L| 962|001 |8€Z|08)|09L|06€E| #L |0GL|0LL| 08 | OF | - | ¥ |9L|G8)|SPL|SLL| S9 | 951/002-0F
82l - | S LXOPIN | S LXOPIN | L20L|000L | 0EE|0Z17|08E€|008| 001|809 L20L|962|00L|8€2|08L|09L|06€| +1|0S5L|0LL| 08| OF | - | ¥ |9L|G8L|SPL|SLL| S9 | 9LL/002-0F
66Ol - | GIXCEN | STLXZEN | GO6 | 0S8 |00€|06€|0SE|069|00L|2hY| G588 |¥SZ| 08 |861|09L|ZEL|2PE| ¥L |0GL|OLL| 08| OF | - | ¥ |9L|S8)|SPL|SLL| S9 | 9G°2/09L-0F
16 16 | GLXZEN | S'LXZEW | S06 | 0S8 | 00€|06€|0SE|059/00L|ZhY| 588 |¥SZ| 08 |861|09L|2€L|2vE| ¥L |0GL|0LL| 08 | OF | - | ¥ |9L|S8L|SPL|SLL| S9 | 95°S/09L-0F
999 | 999 |S'LX0ZIN | S IXSCIN | LES | 0SZ |0SZ|0VE|00E|06S| 08 |88€| LEB |€1Z| 08 | LLL|OVL|ZLL|20E|+L|0SL|OLL| 08| OF | - | ¥ |9L|G8L|SYL|SLL| G9 | 90°/SCL-OF
08 08 | GLXOZIN | S'LXGZ | 608 | 0SZ |0SZ|0¥E€|00€|06S| 08 |99¢€| 608 |€1Z| 08 |SGL|0VL|ZLL|20€| ¥L|0GLI0LL] 08| OF | - | ¥ |9L|S8L|SPL|SLL| S9 | 90°E/STL-0p
zzLl - | SIXCEW | S LXZEN | S06 | 0S8 |00E|06€E|0SE|0S9| 001 |Zii| 88 |962| 08 |861|08L[09L|06€| ¥L|0VL|00L| G2 | € | - | ¥ |9L|S9L|SCL| G6 | 0S | 95'2/002-C€
16 16 | GLXZEN | S'LXZEW | G06 | 0S8 |00€|06€|0SE|059|00L |ZhY| 88 |962| 08 |861|081|091|06€| ¥ |0vL|00L| G2 | 2€ | - | ¥ |9L|S9L|SCL| G6 | 0S | 95°G/00Z-2€
VvL | L'vL | SUXO2ZIN | G'LXSZIN | LES | 0SZ |00E|06€|0SE|06S| 08 |88€| LE8 |¥5Z| 08 |LLL|09L|ZEL|2PE| vL|OVL|00L| G2 | CE | - | ¥ |9L|S9L|STL| S6 | 0G | 90'+/09L-2€
G'0L | G0L |SLXOZIN| S LXSCIN | 608 | 05/ |00E|06€E|0SE|06S| 08 |99€| 608 |¥SZ| 08 |SSL|09L|ZEL|2PE| L |0vL|00L| S2| 2 | - | ¥ |9L|G9L|SZL| S6 | 0S | 90°€/09L-2€
G'ZS | S2S | SLX0ZN | S'LXGZW | 092 | OLZ |0S2Z|0¥€|00€|0SS| 08 |21L€| 092 |€1Z] 08 |8¥L|OvL|ZLL|20E| L |OvL|00L| G2 | 2€ | - | ¥ |9L|S9L|SeL| 66 | 0S | 9z°z/Sel-ce
- zA LA 1 1 |en|en|in| 3 alia] @ | v | u|en|aH|m]| 0|8 E9 0 Ed ena el LS| 1l x| Ld NG

e o\ 9|0 0| Z 0|\ 0| 0| @ |oPon

[wwy] suoisuswiqg

Wb

CENTRIFUGAL PUMPS
DIMENSIONS AND WEIGHT

411

EBARA PUMPS EUROPE S.p.A.




3 SERIES

CENTRIFUGAL PUMPS

60Hz

DIMENSIONS AND WEIGHT

Rev. G

PUMP 3LP 65-250, 80-160/200

CGC | SLXCENW | G LXZEN | 8 | 6L 00ZL|000L| 09€ | 0L | 2189|5821 | 09| 06G | 0ES | GZL | 09 | 89Z | 0SZ | 08L | 06%| 22 | 00Z|GEL | Z B4 08 | ¥Z | S22 |08L | SGL| 00L| 922/00Z-08
0S¢ |G'LXCEW | S'LXCEN| G | SL 000L| 008 | 09€ | 09€ | £89|SZLL|09€E | 0GY | OLY | GZL | 0G| 892 |S2Z| 081 | SS¥| 22 | 002 |GEL | Z B4 08| ¥Z | G2z | 081 | SSL| 00L| 922/09L-08
LVLL | GUXOVIN | SLXOPIN| S | SL| 0Z |000L| 008 | ZLE|09E|2S9|0FLL| OEE | 0ZF | 08E | GZL| 0G | 8€2 | G2Z | 08L | SS¥7| 22 | 002 | SEL| 2 P14 08 | ¥ | S22 | 08) | GSL | 00L |95 81/09L-08
€L | SLXOPIN | S LXOPIN| 8 | 61 00ZL|000L | 66€ | 07| 89L| L¥EL|09%| 06G | 0S| 00L | 09 | 00€ | 0SZ|00Z| 0LG| 0Z |S8L|0ZL| L B4 69| 22| 002|091 |SEL| 08 | 92£/062-G9
¥SE | GLXOPIN | SLXOVIN| 8 | 6L 00ZL|000L| 66€ |07 |89L|L¥EL|09%| 06G | 0S| 00L | 09 | 00E | 052|002 | 0LG| 0Z |S8L|0ZL| L B4 69| 2Z|00Z|09L |SEL| 08 | 90£/0S2-S9
6] A\ LA dg|val s L 3 91019 9 |EN[ZN|IN| H |[VH|EH|ZH|LH| H |2¢S|2a| cd ZNa 1S 1A | M| Ld |ING

adA) dwnd

pUTIETY [ww] suoisuswig

g

412

1a

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

8 225

DIMENSIONS AND WEIGHT 60Hz
Rev. G
PUMP 3LP 80-200/250
2-63/8
24 8-¢18 /
2 ‘ g
N
8 8 S 1=
s 3 = 2180
=
718
3
| o
125 470 4-919 460
100 1000 530
1200 590
Pump type Weight
PP H | H1 | H2 | H3 | B | BM G s V1 V2 [kgf]
80-200/306 510 | 180 | 250 | 300 | 1366 | 768 | 399 | 20 | M40x1.5 | M4ox15 | 356
80-200/376 510 | 180 | 250 | 300 | 1366 | 768 | 399 | 20 | M40x1.5 | M40x15 | 365
80-250/456 565 | 200 | 280 | 335 | 1407 | 809 | 465 | 25 | M50x1.5 | M50x15 | 440

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

DIMENSIONS AND WEIGHT 60Hz
Rev. G
PUMP 3LP 80-250/556
509
08¢ 00z f05[7oL
8
S —
19 ﬁi
905 | 8
|
|
\ _
E |
il Jf Fjjﬁ —
[To) ’: ‘ g Q
x é iy = ‘ -
I
A OO ]
it L 4
: L B
T ik
el f‘j
T ]
‘ \
! 5
A7
R e | N S R
g e 11+ ;
L] g
4 L 3
B0ING &
55l
7
414

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

DIMENSIONS AND WEIGHT 60Hz
Rev. G
PACKING 3(.)M
Packing [mm] Weight Pack
Pump type z [kf] Type TYPE 1
X Y @) @)
32-125/2.26 280 | 340 | 490 | 490 24.6 256 1 _
32-160/3.06 31.6 316
32-160/4.06 550 | 580 39.5 39.5
32-200/5.56 50.5 50.5
32-200/7.56 700 - 61.1 >~
40-125/3.06 350 | 480 28.4 28.4
40-125/4.06 550 | 580 414 414
40-160/5.56 49.8 49.8 \
40-160/7.56 700 61.1 -
40-200/116 72.8 7
40-200/156 390 | 520 - 880 - 116.2
50-125/5.56 580 | 580 49 49
50-125/7.56 350 | 480 - 61.5
700

50-160/116 71.8 2 TYP E 2
50-160/156 390 | 520 - 880 - 87.9
65-125/5.56 350 | 480 | 580 | 580 55 55 I —
65-125/7.56 - 62.2
65-160/9.26 350 | 490 700 62.3
65-160/116 80.3
65-160/156 117.2 o
e 2001555 faos

. - 390 | 520 :
65-200/226 149.2
80-160/18.56 860 160.6 7J t +
80-160/226 180.2 ‘ 7 ‘
(*) only for IE3 motors

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

DIMENSIONS AND WEIGHT 60Hz

Rev. G

PACKING 3(.)S

. Weight

Pummp type Packing [mm] [kgf] TPacl‘;

X |v| z ® |P
32-125/2.26 | 350 | 480] 580 [ 51 51 1
ieoaos | 0 | 40| 0 b r s
32-200/5.56 | 350 | 490| 700 [ 82.1 | 82.1 TYPE 1
32:200756 | oo | 400! 700 L 32.2 -
40-125/3.06 48 48
40-1254.06 | oo | 400|700 [ 754 [ 754
40-160/5.56 832 [ 83.2 .
40-160/7.56 | 350 | 490| 700 | - 115
40-200/11 - .
0-200/116 | 390 | 590 880 573
40-200/156 - 68.4 4
50-125/556 | .o | 40| 700 [83 83
50-125/7.56 - 94.7 VA
501601116 | .o [ s | ggo [ [ 1069
50-160/156 - 1369 TYPE 2
65125556 | .o | 400|700 [774 [ 774
65-125/7.56 - 824 | 2 o
-1 2 - 77
651601926 | 390 | 500| 880
65-160/116 - 1079
65-160/156 | 390 | 590| 960 | - 138
65-200/156 | 390 | 590| 880 | - [ 1476 .
65-200118.56 | o | co0| g0 [ | 1665
65-200/226 - 329
65-250/306 | o0 | 747 1100l__- 339 J t
65-250/376 - 141 | . A
80-160/18.56 | 390 | 590| 960 | - [ 2255 | L |
80-160/226 - 322
80-2001226 | o0 | 747 410 |- 332
80-200/306 - 344
80-200/376 - 354
80-2501456 | 0 | 817 | 1200|__- 517
80-250/556 - 600

(*) only for IE2 motors

416

% E2ARA EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS 3 SERIES

DIMENSIONS AND WEIGHT 60Hz

Rev. G

PACKING 3(.)P

Packi Weight
Pump type cking [mm} [kaf]
z | x| v *)

32-125/2.26 435 52.5 52.5
32-160/3.06 467 70.5 70.5
32-160/4.06 478 74 1 741
32-200/5.56 533 96 96
32-200/7.56 - 109.2
40-125/3.06 442 80 80
40-125/4.06 458 66.6 66.6
40-160/5.56 505 97 97
40-160/7.56 - 105
40-200/116 573 - 127.8
40-200/156 - 136.9

-125/5. 7 7
50-125/5.56 505 9 9
50-125/7.56 - 105

-1 - :
50-160/116 573 127.3
50-160/156 - 134.4
65-125/5.56 98 98

533

65-125/7.56 1200 800 - 108.4
65-160/9.26 535 - 118
65-160/116 - 124.8
65-160/156 573 - 129

_2 -
65-200/156 593 137
65-200/18.56 - 135.2
65-200/226 623 - 189
65-250/306 685 - 354
65-250/376 - 373
80-160/18.56 593 - 181.2
80-160/226 623 - 259
80-200/226 633 - 267

_2 -
80-200/306 665 356
80-200/376 - 365
80-250/456 720 - 440
80-250/556 811 - 528

(*) only for IE2 motors

417

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

TECHNICAL DATA 60Hz

Rev. G
Power Efficiency (% load) Efficiency (% load) | |nput Full load current Locked rotor current
Pump type Efficiency Three phase (380 V) Three phase (460 V) kW] [A] [A]
kW | [HP] n% n% Three Phase Three Phase
50% | 75% | 100% | 50% | 75% | 100% 220V | 380V | 460V | 660V | 220V | 380V | 460V | 660 V
- 80.5 83.3 83.5 77.3 82.4 84.1 2.9 7.0 4.1 4.1 - 61.5 35.5 43.0 -
3(.)M 32-125/2.26 22 3.0
IE3* 889 | 888 | 87.2 | 863 | 885 | 884 25 7.5 43 4.1 - 55.7 | 32.2 | 38.9 -
- 840 | 859 | 852 | 80.2 | 835 | 84.6 3.9 10.5 6.1 5.6 - 921 53.2 | 57.0 -
3(.)M 32-160/3.06 3.0 4.0
IE3* 88.6 | 86.1 87.5 - - 88.5 34 10.2 5.9 5.6 - 75.7 | 43.7 | 52.8 -
- 83.2 85.8 86.1 81.0 85.1 86.7 5.1 14.7 8.5 8.0 - 108.8 | 62.8 76.0 -
3(.)M 32-160/4.06 40 | 55
IE3* 89.7 89.6 88.6 86.1 88.4 88.5 4.5 135 7.8 7.6 - 107.1 | 61.8 74.9 -
- 83.4 85.3 85.7 82.9 86.0 87.4 7.0 - 11.6 9.5 6.7 - 90.9 | 110.0 | 63.5
3(.)M 32-200/5.56 5.5 7.5
IE3* 904 | 90.9 | 904 | 887 | 90.5 | 91.0 6.0 17.4 10.1 8.9 5.8 - 945 | 1143 | 54.6
3(.)M 32-200/7.56 7.5 10.0 IE3* 90.0 | 90.6 | 90.3 | 88.1 90.3 | 90.8 8.3 235 13.6 11.9 7.8 - 118.0 | 143.0 | 68.1
- 840 | 859 | 852 | 80.2 | 835 | 84.6 3.9 10.5 6.1 5.6 - 921 53.2 | 57.0 -
3(.)M 40-125/3.06 3.0 4.0
IE3* 91.2 90.9 87.5 91.3 - 88.5 3.4 10.2 5.9 5.6 - 75.7 43.7 52.8 -
- 83.2 85.8 86.1 81.0 85.1 86.7 5.1 14.7 8.5 8.0 - 108.8 | 62.8 76.0 -
3(.)M 40-125/4.06 40 | 55
IE3* 89.7 89.6 88.6 86.1 88.4 88.5 4.5 135 7.8 7.6 - 107.1 | 61.8 74.9 -
- 834 | 853 | 857 | 829 | 86.0 | 874 7.0 - 11.6 9.5 6.7 - 90.9 | 110.0 | 63.5
3(.)M 40-160/5.56 5.5 7.5
IE3* 904 | 90.9 | 90.4 | 88.7 | 90.5 | 91.0 6.0 17.4 10.1 8.9 5.8 - 945 | 1143 | 546
3(.)M 40-160/7.56 7.5 10.0 IE3* 90.0 | 90.6 | 90.3 | 88.1 90.3 | 90.8 8.3 235 13.6 11.9 7.8 - 118.0 | 143.0 | 68.1
3(.)M 40-200/116 11.0 15.0 IE3* 90.3 91.2 91.2 88.3 90.5 91.3 10.1 - 16.9 14.9 9.7 - 115.0 | 140.0 | 66.4
3(.)M 40-200/156 15.0 20.0 IE3* 92.5 92.7 92.1 91.0 92.5 92.7 16.2 46.9 271 23.9 15.7 - 184.0 | 223.0 | 106.2
- 83.4 85.3 85.7 82.9 86.0 87.4 7.0 - 11.6 9.5 6.7 - 90.9 | 110.0 | 63.5
3(.)M 50-125/5.56 5.5 7.5
IE3* 904 | 909 | 904 | 88.7 | 90.5 | 91.0 6.0 17.4 10.1 8.9 5.8 - 945 | 114.3 | 54.6
3(.)M 50-125/7.56 7.5 10.0 IE3* 90.0 | 90.6 | 90.3 | 88.1 90.3 | 90.8 8.3 235 13.6 11.9 7.8 - 118.0 | 143.0 | 68.1
3(.)M 50-160/116 11.0 15.0 IE3* 903 | 91.2 | 912 | 883 | 90.5 | 913 10.1 - 16.9 14.9 9.7 - 115.0 | 140.0 | 66.4
3(.)M 50-160/156 15.0 20.0 IE3* 92.5 92.7 92.1 91.0 92.5 92.7 16.2 46.9 271 23.9 156.7 - 184.0 | 223.0 | 106.2
- 83.4 85.3 85.7 82.9 86.0 87.4 7.0 - 11.6 9.5 6.7 - 90.9 | 110.0 | 63.5
3(.)M 65-125/5.56 55 75
IE3* 90.4 90.9 90.4 88.7 90.5 91.0 6.0 17.4 10.1 8.9 5.8 - 94.5 | 1143 | 54.6
3(.)M 65-125/7.56 7.5 10.0 IE3* 90.0 | 90.6 | 90.3 | 88.1 90.3 | 90.8 8.3 23.5 13.6 11.9 7.8 - 118.0 | 143.0 | 68.1
3(.)M 65-160/9.26 9.2 13.0 IE3* 903 | 91.2 | 91.2 | 883 | 90.5 | 913 10.1 - 16.9 14.9 9.7 - 115.0 | 140.0 | 66.4
3(.)M 65-160/116 11.0 15.0 IE3* 919 | 918 | 91.2 | 909 | 918 | 913 121 - 20.3 18.5 1.7 - 153.0 | 185.0 | 88.3
3(.)M 65-160/156 15.0 20.0 IE3* 92.5 92.7 92.1 91.0 92.5 92.7 16.2 46.9 271 23.9 15.7 - 184.0 | 223.0 | 106.2
3(.)M 65-200/156 15.0 20.0 IE3* 92.5 92.7 92.1 91.0 92.5 92.7 16.2 46.9 271 23.9 156.7 - 184.0 | 223.0 | 106.2
3(.)M 65-200/18.56 18.5 25.0 IE3* 92.2 92.9 92.7 90.8 92.5 92.9 19.9 - 33.5 30.3 19.3 - 273.0 | 331.0 | 157.6
3(.)M 65-200/226 22.0 30.0 IE3* 92.4 92.7 92.7 92.6 93.1 93.1 23.7 - 39.5 34.5 22.8 - 321.0 | 389.0 | 185.3
3LM 80-160/18.56 18.5 25.0 IE3* 92.2 92.9 92.7 90.8 92.5 92.9 19.9 - 33.5 30.3 19.3 - 273.0 | 331.0 | 157.6
3LM 80-160/226 220 | 30.0 IE3* 924 | 927 | 927 | 926 | 931 93.1 23.7 - 39.5 | 345 | 228 - 321.0 | 389.0 | 185.3

* only for 460 V

500

% E2ARA EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS

3 SERIES

TECHNICAL DATA

60Hz

Rev. G

Motor Efficiency (% load) Full load current Locked rotor current
Pump type
Power N Input and power-factor [A] [A]
Motor Efficiency (kW] )
- n% Three Phase Three Phase
3()S 3(.)P Size | [kw] [HP] cos—

50% 75% 100% 265V 460 V 265V 460 V
- 2.65 79.6 83.2 84.3 0.81 71 41 56.8 32.8

3(.)S 32-125/2.26 | 3(.)P 32-125/2.26 | 90L 2.2 3
IE2 2.55 86.0 86.4 86.5 0.82 6.8 3.9 64.1 37.0
- 3.56 80.7 84.4 85.5 0.86 9.0 5.2 86.4 49.9

3(.)S 32-160/3.06 | 3(.)P 32-160/3.06 | 100L 3 4
IE2 3.44 86.4 87.8 87.5 0.90 8.3 4.8 95.3 55.0
- 4.70 81.3 84.2 85.0 0.83 12.3 71 125.4 724

3(.)S 32-160/4.06 | 3(.)P 32-160/4.06 | 112M 4 55
IE2 4.62 84.2 86.2 87.5 0.92 10.9 6.3 69.3 40.0
- 6.22 83.5 86.6 87.8 0.84 - 9.3 - 84.6

3(.)S 32-200/5.56 | 3(.)P 32-200/5.56 | 132S 5.5 75
IE2 6.24 87.2 88.7 89.1 0.91 - 8.6 - 89.0
3(.)S 32-200/7.56 | 3(.)P 32-200/7.56 | 1328 7.5 10 IE2 8.45 89.8 90.1 89.7 0.93 - 1.4 - 112.0
- 3.56 80.7 84.4 85.5 0.86 9.0 52 86.4 49.9

3(.)S 40-125/3.06 | 3(.)P 40-125/3.06 | 100L 3 4
IE2 3.44 86.4 87.8 87.5 0.90 8.3 4.8 95.3 55.0
- 4.70 81.3 84.2 85.0 0.83 12.3 7.1 125.4 72.4

3(.)S 40-125/4.06 | 3(.)P 40-125/4.06 [ 112M 4 55
IE2 4.62 84.2 86.2 87.5 0.92 10.9 6.3 69.3 40.0
- 6.22 83.5 86.6 87.8 0.84 - 9.3 - 84.6

3(.)S 40-160/5.56 | 3(.)P 40-160/5.56 | 1328 55 75
IE2 6.24 87.2 88.7 89.1 0.91 - 8.6 - 89.0
3(.)S 40-160/7.56 | 3(.)P 40-160/7.56 | 1328 75 10 IE2 8.45 89.8 90.1 89.7 0.93 - 1.4 - 112.0
3(.)S 40-200/116 | 3(.)P 40-200/116 | 160M 1" 15 IE2 1213 87.2 89.5 90.9 0.88 - 17.3 - 159.0
3(.)S 40-200/156 | 3(.)P 40-200/156 |160M 15 20 IE2 16.34 90.9 92.3 91.8 0.88 - 23.3 - 226.0
- 6.22 83.5 86.6 87.8 0.84 - 9.3 - 84.6

3(.)S 50-125/5.56 | 3(.)P 50-125/5.56 | 132S 5.5 75
IE2 6.24 87.2 88.7 89.1 0.91 - 8.6 - 89.0
3(.)S 50-125/7.56 | 3(.)P 50-125/7.56 | 1328 7.5 10 IE2 8.45 89.8 90.1 89.7 0.93 - 1.4 - 112.0
3(.)S 50-160/116 | 3(.)P 50-160/116 | 160M 1" 15 IE2 1213 87.2 89.5 90.9 0.88 - 17.3 - 159.0
3(.)S 50-160/156 | 3(.)P 50-160/156 |160M 15 20 IE2 16.34 90.9 92.3 91.8 0.88 - 23.3 - 226.0
- 6.22 83.5 86.6 87.8 0.84 - 9.3 - 84.6

3(.)S 65-125/5.56 | 3(.)P 65-125/5.56 | 132S| 5.5 75
IE2 6.24 87.2 88.7 89.1 0.91 - 8.6 - 89.0
3(.)S 65-125/7.56 | 3(.)P 65-125/7.56 | 132S 7.5 10 IE2 8.45 89.8 90.1 89.7 0.93 - 1.4 - 112.0
3(.)S 65-160/9.26 | 3(.)P 65-160/9.26 | 132M 9.2 12.5 IE2 10.18 85.0 88.6 90.0 0.90 - 14.2 - 172.0
3(.)S 65-160/116 | 3(.)P 65-160/116 |160M 1" 15 IE2 12.13 87.2 89.5 90.9 0.88 - 17.3 - 159.0
3(.)S 65-160/156 | 3(.)P 65-160/156 | 160M 15 20 IE2 16.34 90.9 92.3 91.8 0.88 - 23.3 - 226.0
3(.)S 65-200/156 | 3(.)P 65-200/156 | 160M 15 20 IE2 16.34 90.9 92.3 91.8 0.88 - 23.3 - 226.0
3(.)S 65-200/18.56| 3(.)P 65-200/18.56 | 160L 18.5 25 IE2 20.19 90.3 92.0 91.7 0.88 - 28.8 - 340.0
3(.)S 65-200/226 | 3(.)P 65-200/226 |180M 22 30 IE2 23.40 91.8 93.0 93.4 0.89 - 33.0 - 350.0
3(.)S 65-250/306 | 3(.)P 65-250/306 | 200L 30 40 IE2 31.89 92.7 94.0 94.2 0.87 - 46.0 - 410.0
3(.)S 65-250/376 | 3(.)P 65-250/376 | 200L 37 50 IE2 38.56 93.0 94.3 94.5 0.88 - 55.0 - 470.0
3(.)S 80-160/18.56| 3(.)P 80-160/18.56| 160L 18.5 25 IE2 20.19 90.3 92.0 91.7 0.88 - 28.8 - 340.0
3(.)S 80-160/226 | 3(.)P 80-160/226 |180M 22 30 IE2 23.40 91.8 93.0 93.4 0.89 - 33.0 - 350.0
3(.)S 80-200/226 | 3(.)P 80-200/226 |180M 22 30 IE2 23.40 91.8 93.0 93.4 0.89 - 33.0 - 350.0
3(.)S 80-200/306 | 3(.)P 80-200/306 | 200L 30 40 IE2 31.89 92.7 94.0 94.2 0.87 - 46.0 - 410.0
3(.)S 80-200/376 | 3(.)P 80-200/376 | 200L 37 50 IE2 38.56 93.0 94.3 94.5 0.88 - 55.0 470.0
3(.)S 80-250/456 | 3(.)P 80-250/456 |225M 45 60 IE2 47.65 92.6 94.1 94.9 0.92 - 65.0 - 610.0
3(.)S 80-250/556 | 3(.)P 80-250/556 |250M 55 75 IE2 58.73 92.8 93.8 94.4 0.91 - 81.0 - 760.0

501

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

TECHNICAL DATA 60Hz

Rev. G

NOISE DATA 3(.)M

Pump type Power Loa- dB(A) *

[kW] | [HP]

3(.)M 32-125/2.26 2.2 3.0 72

3(.)M 32-160/3.06 3.0 4.0 76

3(.)M 32-160/4.06 4.0 5.5

3(.)M 32-200/5.56 5.5 7.5 80

3(.)M 32-200/7.56 7.5 10

3(.)M 40-125/3.06 3.0 4.0 76

3(.)M 40-125/4.06 4.0 5.5

3(.)M 40-160/5.56 5.5 7.5 80

3(.)M 40-160/7.56 7.5 10

3(.)M 40-200/116 11 15 85

3(.)M 40-200/156 15 20

3(.)M 50-125/5.56 5.5 7.5 80

3(.)M 50-125/7.56 7.5 10

3(.)M 50-160/116 11 15 85

3(.)M 50-160/156 15 20

3(.)M 65-125/5.56 5.5 7.5 80

3(.)M 65-125/7.56 7.5 10

3(.)M 65-160/9.26 9.2 12.5 85

3(.)M 65-160/116 11 15

3(.)M 65-160/156 15 20

3(.)M 65-200/156 15 20

3(.)M 65-200/18.56 18.5 25 88

3(.)M 65-200/226 22 30

3LM 80-160/18.56 18.5 25

3LM 80-160/226 22 30

*Mean value of several measures at 1m distance around the pump.
Tolerance + 2.5 dB.

502

% E2ARA EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS

3 SERIES

TECHNICAL DATA 60Hz
Rev. G
NOISE DATA 3(.)S-3(.)P
Pump type Power Lon- dB(A) *
3(.)S 3(.)P [kW] [HP]
3()S 32-125/2.26 | 3(.)P 32-125/2.26 2.2 3 70
3(.)S 32-160/3.06 3(.)P 32-160/3.06 3 4 74
3(.)S 32-160/4.06 3(.)P 32-160/4.06 4 5.5 78
3(.)S 32-200/5.56 | 3(.)P 32-200/5.56 55 | 7.5 -
3()S 32-200/7.56 | 3(.)P 32-200/7.56 75 10
3(.)S 40-125/3.06 3(.)P 40-125/3.06 3 4 74
3(.)S 40-125/4.06 | 3(.)P 40-125/4.06 4 5.5 78
3()S 40-160/5.56 | 3(.)P 40-160/5.56 55 | 7.5 -
3(.)S 40-160/7.56 3(.)P 40-160/7.56 7.5 10
3(.)S 40-200/116 3(.)P 40-200/116 11 15 84
3(.)S 40-200/156 3(.)P 40-200/156 15 20
3()S 50-125/5.56 | 3(.)P 50-125/5.56 55 | 7.5 8
3(.)S 50-125/7.56 3(.)P 50-125/7.56 7.5 10
3(.)S 50-160/116 3(.)P 50-160/116 11 15 84
3()S 50-160/156 | 3(.)P 50-160/156 15 20
3(.)S 65-125/5.56 3(.)P 65-125/5.56 5.5 7.5
3(.)S 65-125/7.56 | 3(.)P 65-125/7.56 75 10 82
3(.)S 65-160/9.26 3(.)P 65-160/9.26 9.2 12.5
3()S 65-160/116 | 3(.)P 65-160/116 11 15
3(.)S 65-160/156 3(.)P 65-160/156 15 20 84
3(.)S 65-200/156 | 3(.)P 65-200/156 15 20
3(.)S 65-200/18.56 | 3(.)P 65-200/18.56 18.5 25
3(.)S 65-200/226 3(.)P 65-200/226 22 30 85
3LS 65-250/306 3LP 65-250/306 30 40 87
3LS 65-250/376 3LP 65-250/376 37 50
3LS 80-160/18.56 | 3LP 80-160/18.56 18.5 25 84
3LS 80-160/226 3LP 80-160/226 22 30 85
3LS 80-200/226 3LP 80-200/226 22 30
3LS 80-200/306 3LP 80-200/306 30 40 87
3LS 80-200/376 3LP 80-200/376 37 50
3LS 80-250/456 3LP 80-250/456 45 60 90
3LS 80-250/556 3LP 80-250/556 55 75 91
*Mean value of several measures at 1m distance around the pump.
Tolerance 2.5 dB.
Sound pressure level of motor pumps with AEG
503

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



	3SERIES
	Contents
	Specification
	Selection chart
	Type key and curve specifications
	Performance curve 32-125

	Performance curve 32-160

	Performance curve 32-200 
	Performance curve 40-125
	Performance curve 40-160

	Performance curve 40-200

	Performance curve 50-125 
	Performance curve 50-160

	Performance curve 65-125

	Performance curve 65-160

	Performance curve 65-200

	Performance curve 65-250

	Performance curve 80-160

	Performance curve 80-200

	Performance curve 80-250


	Construction
	Sectional view drawing 3(.)M 32, 40, 50, 65
 
	Sectional view table 3(.)M 32, 40, 50

	Sectional view table 3(.)M 
65
	Sectional view drawing 3LM 80-160 
	Sectional view table 3LM 80-160 
	Sectional view drawing 3(.)S 32, 40, 50

	Sectional view drawing 3(.)S 65-125/160/200

	Sectional view table 3(.)S 32, 40, 50, 65-125/160/200

	Sectional view drawing 3LS
 80-160 
	Sectional view table 3LS 80-160 
	Sectional view drawing 3LS 65-250, 80-200/250

	Sectional view table 3LS 65-250, 80-200/250

	Sectional view drawing 3(.)P 32, 40, 50, 65-125/160/200

	Sectional view table 3(.)P 32, 40, 50, 65-125/160/200
	Sectional view drawing 3LP 80-160

	Sectional view drawing 3LP 65-250, 80-200/250

	Sectional view table 
3LP 80-160 
	Sectional view table 3LP 65
-250, 80-200/250
	Bearings 3(.)M

	Bearings 3(.)S-3(.)P

	Mechanical seal (standard, H and E version)

	Mechanical seal (L version ø22)

	Mechanical seal (L version ø30-35
)
	Mechanical seal (HS
 version ø22)
	Mechanical seal (HS version ø30
)
	Mechanical seal (HW and HSW version
)
	Coupling 3(.)S

	Flexible coupling 3(.)P

	Fittings


	Dimension and weight
	Pump
 3(.)M 32, 40-125/160/200, 50-125/160, 65-125/160
	Pump
 3(.)M 40-200, 50-160, 65-160/200
	Pump 3LM 80-160

	Pump
 3(.)S 32-125/2.26
	Pump
 3(.)S 32, 65-125/160/200
	Pump
 3(.)S 40, 50, 65-160
	Pump
 3LS 80-160/18.56
	Pump
 3LS 65-250, 80-160/200
	Pump
 3LS 80-200/250
	Pump 3LS 80-250/556

	Pump drawing
 3(.)P 32, 40, 50, 65-125/160/200
	Pump table 
3(.)P 32, 40, 50, 65-125/160/200
	Pump
 3LP 65-250, 80-160/200
	Pump 3LP 80-200/250

	Pump 3LP 80-250/556

	Packing 3(.)M

	Packing 3(.)S

	Packing 3(.)P


	Technical data
	Motor data 3(.)M 
	Motor data 3(.)S-
3(.)P
	Noise data 3(.)M 
	Noise
 data 3(.)S- 3(.)P



	Rev: Rev. C


